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Question Number : 1 Question Id : 967947203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series:
W2322V, T2019S, Q1716P,

Options :

1. % 01514N
2. % N1314M
3. ¥ N1413M
4. % M1314N

Question Number : 1 Question Id : 967947203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafeiad e &1 &

W2322V, T2019S, Q1716P,
Options :

1. % 01514N

2. % N1314M

3. ¥ N1413M

4, % MI1314N

Question Number : 2 Question Id : 967947204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

dd a abb c ¢

Options :

1. % dacc

2. % aacc

3. ¥ dabc

4. # aabc

Question Number : 2 Question Id : 967947204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad e &1 -6

dd a abb c ¢

Options :

1. # dacc

2. # aacc

3. % dabc

4. % aabc

Question Number : 3 Question Id : 967947205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # EQZFI
2. % GWIQU
3. ¥ MGVFK
4. ¥ PJIXHM

Question Number : 3 Question Id : 967947205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te Ay e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 4 3T |
Options :

1. # EQZFI

2. % GWIQU

3. ¥ MGVFK

4. ¥ PJXHM

Question Number : 4 Question Id : 967947206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:
ac_g a egg ceg

Options :

1. # abcde
2. % aecdf
3. ¥ egcag
4. ¥ agoag

Question Number : 4 Question Id : 967947206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BEINICRECRICAR RCES
ac_g a egg ceg

Options :

1. # abcde

2. ® aecdf

3. % egcag

4. ¥ agoag

Question Number : 5 Question Id : 967947207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Smoulder
2. # Decay

3. ¥ Purify

4. ¥ Decompose

Question Number : 5 Question Id : 967947207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1. % Tl

2.% &4

3. ¥ YA

4, % 3UYcH

Question Number : 6 Question Id : 967947208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Sedimentation
2. % Decantation
3. # Filtration

4. ¥ Winnowing

Question Number : 6 Question Id : 967947208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T AT 9% I UM &1 gy, T [Ahed 370 diF &1 aRE 81 8| 39 ey o1 T &3 off 370 T 3T g |
Options :

1. % 3H{qdlqd

2. % (IR0

3. % e

4. AR

Question Number : 7 Question Id : 967947209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ MNOM
2. % BDCB

3. % XZYX

4. % PRQP

Question Number : 7 Question Id : 967947209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & Te Y e I 90 § | 8TalD, Uh fAwed o1 diF & de -Te] ¢ | 39 [aded &1 78 &3 oIl 37 ¥ 3T g |
Options :

1. ¥ MNOM

2. % BDCB

3. % XZYX

4. ¥ PRQP

Question Number : 8 Question Id : 967947210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Wind : Blows
2. % Lion : Roars

3. % Blows : Horn
4. * Drum : Beats

Question Number : 8 Question Id : 967947210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt foeweal A @ & e (i % @ THH 81 gTaiTd, T faded 3/ diF ot aRE Tl ¢ | 39 fached &1 I8 &3 oY 30 ¥ 3T 8|
Options :

1. # gdl . dd-l

2. % ﬁl_s'agl@'

3. ¢ ST : ol

4, % gH . dld

Question Number : 9 Question Id : 967947211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Telephone : Ring :: Door : ?
Options :

1. # Key

2. % Knock

3. ¥ Knob

4, % Jam

Question Number : 9 Question Id : 967947211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [doed &1 999 B S ek Ue I I UHR ¥ A&fd § o UHR ¥ gkl UE Ugd U & Hafdd 5
S U gR : ?

Options :
1. % et
2. ¥ qiddh
3. % g&l
4. % 3RY

Question Number : 10 Question Id : 967947212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

BYDW : FUHS :: AZCX : ?
Options :

1. ¥ EVGT

2. % EVTG

3. % EGVT

4. % FGVT



Question Number : 10 Question Id : 967947212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § For TR | g¥R1 S Ugd Ue § Yefid g

BYDW : FUHS :: AZCX : ?
Options :

1. ¥ EVGT

2. % EVTG

3. % EGVT

4. % FGVT

Question Number : 11 Question Id : 967947213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the fourth term on the same basis as the second term is related to the first term.

HOUSE : GNTRD :: ? : KHFGS
Options :

1. * SIGHT

2. % FIGHT

3. * MIGHT

4. ¢ LIGHT

Question Number : 11 Question Id : 967947213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [aoed &1 999 B S 91 U J I UHR ¥ A& § o UHR ¥ gkl UE Ugd Ue & Sefid g

HOUSE : GNTRD :: ? : KHFGS
Options :
1. # SIGHT



2. ® FIGHT
3. ¥ MIGHT
4.« LIGHT

Question Number : 12 Question Id : 967947214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Aunt : Uncle :: Niece : ?
Options :

1. # Brother

2. % Sister

3. ¥ Nephew

4. % Cousin

Question Number : 12 Question Id : 967947214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 A I R Ue J I UHR ¥ Jafd § oy UeR ¥ k1 Ue Ugd Ue § Yafdd 7
I : I - WSl - 2

Options :
1. % U5
2. % dgd
3. ¢ YISl
4. % RIS

Question Number : 13 Question Id : 967947215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If RAMAYANA is coded as SZNZZZ70Z, then what will be MAHABHARAT coded as?



Options :

1. # NZIZGCZQBS
2. % NIZCZGBQBS
3. ¥ NZIZCGBQBS
4. ¥ NZIZGCBQBS

Question Number : 13 Question Id : 967947215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE RAMAYANA &1 SZNZZZ0Z & 0 H Hifed a1 1 8, @ MAHABHARAT 1 o8 $IfSd farar STam
Options :

1. # NZIZGCZQBS

2. ®# NIZCZGBQBS

3. ¥ NZIZCGBQBS

4. % NZIZGCBQBS

Question Number : 14 Question Id : 967947216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If heaven is beautiful, beautiful is hell, hell is fire, fire is water, water is ocean and ocean is sky, what is used to burn?
Options :

1. # fire

2. ¥ water

3. % hell

4. % ocean

Question Number : 14 Question Id : 967947216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Tl PR 8, Frax 7@ g, R 3 g, 3 Td §, T HENFR g 3R AENFR SATHT g, ol ST & ol T SUTRT foam STl /2
Options :

1. % 3y




2. 9|
3. % qh
4. % TENTR

Question Number : 15 Question Id : 967947217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If TOP =51, PUT =57, then BAR =?
Options :

1. % 25

2.9 21

3.% 23

4. % 26

Question Number : 15 Question Id : 967947217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gf¢ TOP = 51, PUT = 57, A BAR = ?
Options :

1. % 25

2.% 21

3.% 23

4. % 26

Question Number : 16 Question Id : 967947218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

'P@$' means 'he is happy'
'Y &@' means 'this is good'
'P%*' means 'he likes chocolates'.



What is the code for 'happy'?
Options :

1.¥§

2.% @

3.%p

4. % &

Question Number : 16 Question Id : 967947218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Afgd ois YW A,

P@$' DI 3 § he is happy'
Y&@' Pl 31'?-f% 'this is good'
"P%*" DI 31’21:%’ 'he likes chocolates'.

Fﬁ'happy’%ﬁ‘l'qa'ﬁgazﬂ%?
Options :

1.¥3$

2. % @

3.%p

4. % &

Question Number : 17 Question Id : 967947219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a man Ratan said, " He is the only son-in-law of my mother's husband". How is Ratan related to the man?
Options :

1. ¥ Brother-in-law

2. % Son

3. ¥ Maternal Uncle

4. % Paternal Uncle



Question Number : 17 Question Id : 967947219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TEH! P 3R SRT HRd §U I A Hal, "d8 AR AT & Ul BT IHhaidl gHIE 7" | Ia- 39 afad ¥ & Iafdd g2
Options :

1. ¥ SE8

2.%Uq

3. % HMHI

4, % [l

Question Number : 18 Question Id : 967947220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language,

A A B means A is the mother of B

A ¢ B means A is the sister of B

A * B means A is the father of B

A ¥ B means A is the brother of B.

Which of the following means Q is the grandfather of P?

Options :

I.* QAN*M*P
22 Q*NPMAP
3. Q¥M¥N*P
4. % Q*MPN¥P

Question Number : 18 Question Id : 967947220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e (Agd ®is U A,

AAB®HT I G A, BHIACIE



APBHTIITA, BHITET 8
A*BHIAYT A, BHI AR
A¥BHTHIEA BHTIUR B

faferfad 7 9 feger sl g f Q, p #T1aIET 82
Options :

I.%¥ QAN*M*P

2.¥Q*NGMAP

3.% Q¥YMYN*P

4. % Q*MN¥P

Question Number : 19 Question Id : 967947221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five friends are standing in a row facing south. Jayant is to the immediate right of Ajay. Praful is between Bharat and Sujay. Sujay is between
Jayant and Praful. Who among them is in the middle?

Options :
1. # Bharat
2. # Jayant
3. ¥ Sujay
4. % Ajay

Question Number : 19 Question Id : 967947221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O o SR 31 3R T8 b Th A H TS ¢ | o1, 3o & o1 GIY H g | THed HRd 3R Jord & aid | § | Jord, o1id 3R Thed &
AR IHIADHA I A §?

Options :
1. % Rd
2. % Sd
3. ¢ oy
4. % 3o




Question Number : 20 Question Id : 967947222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons M, N, O, P, Q and R are sitting in circle facing each other. R is third from O counting from either side. M is opposite to N. P is to the
immediate left of M and M is to the immediate left of O. P and N, and M and O mutually exchange seats. Who are the immediate neighbours of
O after the exchange?

Options :

I.* Rand N
2. % Mand N
3. % Mand Q
4. % Pand Q

Question Number : 20 Question Id : 967947222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B AGRIM, N, O, P, Q 3R R Th G P IR TH TP TH JA A 96 &1 R, 0 I & 3R I A gTAM ™A R G I M, N & famia g1 p,
M & 31 aT¢ 3R § 3R M, O & 31 a1¢ 3R g1 P 3R N, 3R M 3R 0 TRER Hie BT ATGH-UGH HRd & | HEH-UEH & &G 0 &

fAwear I HH |2
Options :
1. % R3RN
2. ¥ M3RN
3. % M3RQ
4. % p3RQ

General Ability2
Group Number : 2
Group Id : 96794712
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 96794712
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794714
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 967947223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question a statements is given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Monetary funds play a vital role in politics.

Conclusion I : Poor people cannot become politicians.
Conclusion II : Only rich men can take part in politics.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follow

4. % Neither conclusion I nor II follows



Question Number : 21 Question Id : 967947223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H U Sy fear mar €, 5 91¢ &l ey 1, 3R 11 fRT U 1 3ueh! 39 Syl &) I A1 ], Y 81 I8 JMHRIG: I1d a  fiw
Tl 811 3Taeh! 7g fAiofg o @ b fou e fisee st # @ o1 a1, afe 1S 8, o ou T =i A & srERur R g

HYT 1: oI T T BT Hedqui it FHumar g

fSHY 1 : TRIS ST TSIl ot o qhd |

fsp Y 11 : Frad et gy g1 IS B U & T B
Options :

1. % Had (sHY | 38R0 HRT §

2. % Had BN 11 SR Hal §

3. % fHY 1 3R 11 ST SIIERUI 1 §

4.« A8 FAepd 1 3R T € 11 SRV HRAT

Question Number : 22 Question Id : 967947224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question a statement is given, followed by three courses of actions, I, I and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given courses of action, if any, follows from the given
statements.

Statement: The world will have to feed more that 10 billion people in the next century half of which will be Asians and will eat rice as their staple
diet.

Course of Action I: Funds should be allocated for rice research to help ensure suffucient supplies.
Course of Action II: Asians should be encouraged to change their food habit.
Course of Action III: Other countries should be encouraged to grow rice to meet the demands.

Options :

1. # Only II follows

2. % Only I and III follow
3. % All follow

4. % Only I follow



Question Number : 22 Question Id : 967947224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § Toh HY a1 a1 8, o a1 pRarE & diF HH 1, 11 3R 111 fST 7T &1 3Mueh! 37 U &l I 7T 8, HA 8 I8 IHId: J1d
d q fiyst vreltd 811 3ueh! g fufa o § o fau e srars & A # o9 w1, afe 1% o, d oy T oy & ¥ S eRu R |

gggﬁmﬁ SRTCH RTATsd! H 10 3RE Y 3(fUF AN B! W1 R 1, f57H § o1 TRITS 811 IR 199 1 30 T 3ER & =4
|

HRATS DI HH I: T Y[ G B F TrIal & [l Frad I8 o forg o srdfed forar S anfgu|
HRATS B1 HH 11: TRMTS AT PI 30 HISH B STGd JGa- o a4 WTed foaT ST aTed |

HRATS DI HH I11: 3= <=M DI AN I IR HRA o [ Fradd ST & g Hrenied fobar S arfe |

Options :

1. ® $HId I IRV Bl §

2. ¢ Had [ 3R I 3R Hd &

3. % Y SRRV HRd §

4. % Had [ IR0 Il §

Question Number : 23 Question Id : 967947225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two arguments, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given arguments, if any, is strong from the given statement.

Statement: Should the tuition fees be considerably hiked in all post graduate courses?

Argument I: Yes, this will bring a sense of seriousness among the students and will improve the quality.
Argument II: No, the meritorious students will be forced to refrain from postgraduate courses.

Options :

1. # Only argument I is strong
2. % Only argument II is strong
3. #® Neither I nor II are strong

4. ® Either I or II are strong



Question Number : 23 Question Id : 967947225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § T By fear T 8, o a1 gl ab 1, 3R 11 fSu U 1 3ueh! 39 HU &) I AT 8, HA 81 T8 ITHIC: J1d a2 3 e udiid
211 3Me g ufg o ¢ i Ry mu b A A pH @, afe #1281, A e U ol & Q Aol 2|

DY T U ATAD R UTedshdl H o[ By § 3 i &1 il 1w

d I: BT, S99 B H THRAr ST HTaHT STt 3R Turar & R g

T 11: !, HYTdl BT B HdD IR UIddeh | § faRd Ig o 1org TefeR fava e
Options :

1. % $Had dd [ AoEd &

2. ¥ Had d% 11 ASId o

3. % g1 3R A8 11 Ao §

4. % QA1 AEd §

Question Number : 24 Question Id : 967947226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by three assumptions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given assumptions, if any, follows from the given statement.

Statement: Reeta decided to leave office at 6:00 pm to catch a flight to Kolkata at 9:00 pm.

Assumption: I : The flight to Kolkata maybe delayed.
Assumption II : She might reach the airport before 9:00 pm.
Assumption III: She might get enough time to hire a vehicle to reach the airport.

Options :

1. % Only assumption I follows.

2. % Only assumption II follows.

3. ¥ Only assumption II and III follows.

4. # All assumptions follow.



Question Number : 24 Question Id : 967947226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H U Y fear man 8, forges a1g fiF gRoma 1, 11 3R 111 < 1S 81 3D I YAl B I HHAT 8, YA 81 I8 JrH=Id: I1d 9 fie
Udiid 811 3! g fufg a1 g fb €t 718 yronae & Q@ o9 I, afe #18 8), O fAT T Syl & § 3ERu Rl 8|

HY: AT 7 1T 9:00 URTE HIADIAT & [oTE SATSSTETS Udhs & 1018 6:00 3ORTE HrATad I e o1 7 foban

YRUT: I: HIADTA] P foTE gaTsoTaTS | oxl 81 T g |

YRUT 11 : T8 A 9:00 URTE U Ugd 8T8 3§ TR Ugd Tahall ¢

RO 111: I §aTs Mg AP g & foIE are- faie IR o & for gafed a9g fire gean g
Options :

1. % Had YRON [ SR Bl |

2. % Had YR I SIERV B 5 |

3. ¢ Had YROM I1 3R 111 STIR0T el g

4. % 1} YRUMY IR0 H<il 7 |

Question Number : 25 Question Id : 967947227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come next in the number series?

123456789987654321123456789987654321123
Options :

1. %5

2.% 6

3.% 7

4. ¥ 4

Question Number : 25 Question Id : 967947227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT YRl T S AT ST



123456789987654321123456789987654321123
Options :

1. %5

2.% 6

3.% 7

4. ¥ 4

Question Number : 26 Question Id : 967947228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If @ means +, # means -, $ means x and * means +, then what is the value of 8 #4 $ 3 * 6 @ 4?
Options :

1.+ 10

2. % -8

3.% 2

4, % 5

Question Number : 26 Question Id : 967947228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I @ PTG+ # PTG -, SHTHT G x SR * BTG+, NWI#4$3*6 @ 4 BTAA T G2
Options :

1.+ 10

2.% -8

3.%2

4. %5

Question Number : 27 Question Id : 967947229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is



different from the rest.
Options :

1. % 07:23

2. % 08:26

3.9 10:30

4. % 09:29

Question Number : 27 Question Id : 967947229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiwedl A @ & e Rfd % A THH 81 gTdiTP, T faded 3 diF o1 aRE Tl ¢ | 39 fdched o1 I8 &Y oY 30 ¥ 3T 8|
Options :

1. % 07:23

2. % 08:26

3.9 10:30

4. % 09:29

Question Number : 28 Question Id : 967947230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

13 6 4
6 8 6
1 6 ?
Options :
1. %7

2.¥10



3.% 8
4. % 13

Question Number : 28 Question Id : 967947230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I S [T PR

13| 6 | 4

1 6 ?

Options :
1. %7
2.¥10
3.% 8
4. % 13

Question Number : 29 Question Id : 967947231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Rabi crops, Wheat and Maize?
Options :



(O

3. ®

Qo

Question Number : 29 Question Id : 967947231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRad 7 3 I 91 9 3R Y& B, g SR HHbT & d1d & HeY B T 3T SR 67

Options :

1. ®

(O

3. %



Qo

Question Number : 30 Question Id : 967947232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Passengers, Airplane, Train?
Options :

1. %

2.¥

(O

OO
o O

Question Number : 30 Question Id : 967947232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad # @ o9 T1 37 3w 13, gaTs STeTol, YITRTS! & a1 & Yo Bl g 33T SRITdT g2

Options :



1. %

2. ¥

(O

OO
o O

Question Number : 31 Question Id : 967947233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows girls, boys, players, dancers. Which number represents boys who are players and dancers?



10
Dancers 7 Players

Girl
e 8 — Boys

Options :
1.*9
2. % 4
3.2
4. % 1

Question Number : 31 Question Id : 967947233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear a7 97 3w wsfral, T, faanfsal, Fdfedl & guifar 81 oI It Tem 37 dS! & xia g off Raara! 3k e 82




Options :
1. %9
2. % 4
3.¥2
4. % ]

Question Number : 32 Question Id : 967947234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows men, educated people, people in government services, people in private sectors. Which number represents
educated men only in government services?

Men
Educated .
7 People in Government
pooge 7 13 services
12
8
11 |— Peoplein
Private sector




Options :
1. %5
2.% 6
3.%2
4. 3

Question Number : 32 Question Id : 967947234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T 37 Sig goul, FRifera i, TRt Tarsft & @, Foit &3 & @ &1 q=idl § | ®IF 4 WeT had BRI qarsfi # Riférd goul
&1 ufafAfie Bl 82

Options :
1. %5
2.% 6
3.%2
4. 3

Question Number : 33 Question Id : 967947235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is



different from the rest.
Options :

3.¢

=

Question Number : 33 Question Id : 967947235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fapedl & A dF v AT adics & Tu &1 ETeliich, Ueh fdhed 317 i 1 aRg el 81 39 fahed &1 I &Y ol 310 T el 2|

Options :

]




3.¢

=

Question Number : 34 Question Id : 967947236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :




i

Question Number : 34 Question Id : 967947236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e fawedl & @ & te g % T guM B gTifes, T fadhed 30 9 o1 g 181 81 39 fadhed &1 T &3 S 310 T 3 g |

Options :

r4
4




i

Question Number : 35 Question Id : 967947237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

4. ¢

= A
e || d |77 =" -
A 111 1

Options :

2.¥




e

Question Number : 35 Question Id : 967947237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JhR ¥ gOR1 UG Ugd Ug ¥ Hafed g

—

&
A

d
111 <

Options :

2.¢

18

¢

Q=
|




V
|
l

e

Question Number : 36 Question Id : 967947238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

1—1
QJ o T |e l—B . :
B * @ -
Options :

i
Lol8

do




Question Number : 36 Question Id : 967947238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § For TR | g¥R1 S Ugd Ue § Yefid g

QJ . G‘:’r v, l—% . 2
Q,-"_‘r, . | B | ] | .
Options :

&
¢
=i
d

1
x5

s

Question Number : 37 Question Id : 967947239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four different positions of the same dice are shown below. Which symbol is opposite to the symbol x?



L’\/X-/X’? £

Options :
1. % +
2. %7
3.¢0%
4, % +

Question Number : 37 Question Id : 967947239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 81 IR 1 IR fafie Rufert -2 a=ifg 718 &1 &1 1 g, g x & fandia 82
X ? x* +
et

Options :
1. % +
2. %727
3.¢0%

4, % +

Question Number : 38 Question Id : 967947240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of triangles are there in the given question figure?



iz

N\

Options :
1. % 18
2. %20
3. 24
4, % 27

Question Number : 38 Question Id : 967947240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S Uy repfa A Byl @1 eifiiepdw T fba 22

iz

N\

Options :
1. % 18
2. %20
3. 24
4, % 27

Question Number : 39 Question Id : 967947241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

%

Options :

DHE



7

Question Number : 39 Question Id : 967947241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe Teb U1 b1 W1 AB TR G W1 &, ) SR 3M1pTal & Vb & &t 72 afrepfa o1 wdt of 22

A

%

Options :

1. %

A



=
>

3. %

4.9

Question Number : 40 Question Id : 967947242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one which can be formed from the components given in the question figure.

il
v

Options :




3.¢¥

Question Number : 40 Question Id : 967947242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR ATHIAAI T T I BT BT T B S U P | fU 7T geh! I 99 Fabva g

)
v

Options :




1. %
2. %
3.¢
4. %
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Group Id : 96794713

Group Maximum Duration : 0
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Break time : 0
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Question Number : 41 Question Id : 967947243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dance form, Sattriya Nritya, has its origins in which of the following states?
Options :

1. ® Madhya Pradesh

2. % Kerala

3. ¥ Assam

4. % Maharashtra

Question Number : 41 Question Id : 967947243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T =Y, Y1 T, B I FEfiad 7 @ fra Tsu A gg 2
Options :

1. % A Y

2. % A

3.9 3H

4. % HERTY

Question Number : 42 Question Id : 967947244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The folk dance called Dhalo can be associated with which of the following states?
Options :

1. # Mabharashtra

2. % Goa

3. # Gujarat

4. % Rajasthan

Question Number : 42 Question Id : 967947244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YTa AT & Al o ®I FafaRad & I fw Ioa 1 SieT ST 9l 82
Options :

1. % TERIY

2. ¢ Tl

3. % TR

4. #* ST

Question Number : 43 Question Id : 967947245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Kidangoor and Kalluvazhi are two styles of performing which of the following dance forms?
Options :

1. ¥ Kathakali

2. # Kathak

3. ¥ Mohiniyattam

4. % Kuchipudi

Question Number : 43 Question Id : 967947245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR 3R Peqarg FufaRad & I frg T et F vex ot 3l et &2
Options :

1. ¥ BYbal

2. % HYdh

3. % Mfg-tered

1. g

Question Number : 44 Question Id : 967947246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pandit Birju Maharaj is the face of which of these dance forms?
Options :

1. # Bharatnatyam

2. % Kathakali

3. #® QOdissi

4. ¥ Kathak

Question Number : 44 Question Id : 967947246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui foaRe] 7R 3948 9 o a1 U &1 dgx1 87

Options :



1. % WRdTCIq
2. % HYDHl
3. % 3fifsdt
4. ¥ YD

Question Number : 45 Question Id : 967947247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first round of nationalization of 14 private banks in India came about in the year:
Options :

1. % 1949

2. % 1965

3. ¥ 1955

4. ¥ 1969

Question Number : 45 Question Id : 967947247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & 14 ot ¥t & <o &1 ugen gR g aef & s o
Options :

1. *® 1949

2. % 1965

3. % 1955

4. ¥ 1969

Question Number : 46 Question Id : 967947248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The theme of the Union Budget 2021-2022 is:
Options :

1. # Modernizaton of transport sector



2. ¥ Maximum benefits with minimum fiscal stress
3. % Aatmanirbhar Bharat
4. ® Ease of living

Question Number : 46 Question Id : 967947248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P Fole 2021-2022 BT TATT &:

Options :

1. % URag &7 BT YD IHRT

2. % YAH fa<ita gaTd & 1Y HfUHIH eH
3. ¢ AR YRd

4. % 39 3 forfd

Question Number : 47 Question Id : 967947249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The RBI asked which bank to take over Lakshmi Vilas Bank's operation following mismanagements and failed merger attempts?
Options :

1. ¥ DBS bank India Limited

2. ® Bank of Baroda

3. # Central Bank of India

4. ® State Bank of India

Question Number : 47 Question Id : 967947249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RBI 7 ¥ d& &1 HUSY 3R SRHd (90T & TR & S1e a&H! [aa d& & Tarer &) U & fo1T Hel 62
Options :

1. ¢ DBS d& gfsar faftes

2. % Y 3iTp gSTaT




3. % Yoo o 3T SfSa
4. % YR W db

Question Number : 48 Question Id : 967947250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these mergers made Punjab National Bank (PNB) the second largest public sector bank in India?
Options :

1. ¥ Dena Bank and Vijaya Bank with PNB

2. ¥ Oriental Bank of Commerce and United Bank of India with PNB

3. # Syndicate bank and Canara Bank with PNB

4. ® Andhra Bank and Corporation Bank with PNB

Question Number : 48 Question Id : 967947250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 ¥ fory faea A USTTE A9Fd o6 &1 YR H ATdei-ids & &1 gERT Ja9 981 dab &1 faam
Options :

1. % PNB & 1Y <1 9 3IR faorn s

2. ¥ PNB & 1Y 3NRUCH dF 311 S 3R TAReS §b 31 3fear

3. ® pPNB & 1Y Rifgdhe 9 3R HRT1 dF

4. % PNB & ITY 3¢ S 3R HIURTA g

Question Number : 49 Question Id : 967947251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first (provisional) budget of independent India presented?
Options :

1. ¥ November,1947

2. % November,1948

3. % March, 1949



4. ® March, 1950

Question Number : 49 Question Id : 967947251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT HIRA BT Igdl (- PIci) doic Hd UL foar a1 41
Options :

1. ¢ AR, 1947

2. % IR, 1948

3. % T, 1949

4. % AT, 1950

Question Number : 50 Question Id : 967947252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With regard to electrical properties, Silicon can be classified as a:
Options :

1. ¥ Semiconductor

2. # Insulator

3. # Conductor

4. % Absorber

Question Number : 50 Question Id : 967947252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagga ol & dey 8, Rt o 9 & =u & fferd faar o 9l 6
Options :

1. ¢ eI

2. % faggavieh

3. # dlddh

4. % 3{IYNTDH



Question Number : 51 Question Id : 967947253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The phenomenon which causes a rainbow like pattern on the surface of a CD when light falls on it is called:
Options :

1. # Dispersion of light

2. ® Refraction of light

3. #® Reflection of light

4. ¥ Diffraction of Light

Question Number : 51 Question Id : 967947253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dg geAT ol [l CD TR UHIR U8 WR D! Iag W YUY oI Y &1 HRUT ! 8, 39 HaT oIl 6:
Options :

1. % YeHT BT UREqur

2. % YT BT 30dcH

3. % QBT & WRIadH

4. ¥ BT H1 fagcH

Question Number : 52 Question Id : 967947254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Centrifugal force can be defined as:

Options :

1. #® The force with which the weight of a body may be considered to act.

2. % The product of force multiplied by the perpendicular distance from the line of action to the pivot point.

3. ¥ The force arising from the body's inertia while it is moving in a circular path and is directed away from the centre.

4. ® The force arising from the body's inertia while it is moving in a circular path and is directed towards the centre.

Question Number : 52 Question Id : 967947254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U 99 B 5 T T uRuTid foan o 9T 8

Options :

1. % 98 9 forqd fardt fis &1 YR &1 v & forg 7 S It 3|

2. % §d BT OHG (a1 Bt 3T J Y31 foig d daad gt I 7on fhar S ]|

3. ¢ TS o ST ¥ I 811 9T 56 OId I8 gAIBR Uy H 71 a1 § 3R g J R S RId gar g
4. % TP JAIHR TY H 71 Ha o fis & STsdr ¥ IUd 811 a1 9d iR &g & 3R AR i |

Question Number : 53 Question Id : 967947255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scales is used to measure the intensity of a tornado?
Options :

1. # Beaufort Scale

2. % Decibel Scale

3. % Richter Scale

4. ¥ Fujita Scale

Question Number : 53 Question Id : 967947255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAEx DI <iigal I ATOH & forg Fafeiea § ¥ fos A o1 SudiT o ST 52
Options :

1. % §I%< AYHH

2. % SHldd H1UHH

3. % Raex Tmm

4.« TSI UHT

Question Number : 54 Question Id : 967947256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Necrosis can be defined as:

Options :

1. ¢ death of cells or tissues in a living body due to injury or disease.

2. # excess circulating neutrophils in an individual's body.

3. # akidney disease characterized by oedema and loss of protein from the plasma into urine.

4. % an abnormal mass of tissues that forms when cells grow beyond normal rate.

Question Number : 54 Question Id : 967947256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRATE P 39 YR TR faram o e 3

Options :

1. ¢ I g1 IAR] & SR Sfdd IRR T BB A1 S| bl AR

2. # il afdd & IRR T i uRE=RY eiftha |

3. % TS T[q, BT INT ol TFSHT 3R WIoH ¥ T | UicH & JhaH &I faRwar g

4. % 3de] T STHII THE Sl d9 ST & SId BIRABTE T &R I M I Bl ] |

Question Number : 55 Question Id : 967947257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is located at Allahabad?

Options :

1. # Neer Garh Waterfall

2. ¥ Triveni Sangam (confluence of Ganga, Yamuna and Saraswati)
3. % Assi Ghat

4. % Chilla Wildlife Sanctuary

Question Number : 55 Question Id : 967947257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeRed & & i sergraTe # Rud 82



Options :

1. % 9R g Saudrd

2. ¢ FUR T (@, IHAT 3R R BT )
3. % 3 °e

4. % fIcd 9GSId IHIRTY

Question Number : 56 Question Id : 967947258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tapti river does not flow through which of these following states?
Options :

1. # Madhya Pradesh

2. # Gujarat

3. ¥ Mabharashtra

4. ¥ Telangana

Question Number : 56 Question Id : 967947258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aret 7l fFufafad 7 9 feg I 3 gier 781 s8di 82

Options :
1. % A YGR
2. % I[SRId

3. % TERIY
4. ¥ AT

Question Number : 57 Question Id : 967947259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Dibang, Lohit and Kenula are tributaries to which of the following rivers?
Options :



1. ¥ Brahmaputra
2. # Godavari

3. % Krishna

4. ¥ Mahanadi

Question Number : 57 Question Id : 967947259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feat, difed IR pgen FafoRad # 9§ forg 1ct 31 Gere Afedl 62
Options :

1. « §glgd

2. % Tarad

3. % U

4. % Tl

Question Number : 58 Question Id : 967947260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kangto peak in the Himalayas is located in which of the following states?
Options :

1. # Assam

2. # Sikkim

3. % Arunachal Pradesh

4. % West Bengal

Question Number : 58 Question Id : 967947260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferTera & ral <iet Faferiad o 4 forg wreg # fyd g»
Options :

1. % 3H



2. % ffasH
3.« SUNIA U
4. % Ui¥H ST

Question Number : 59 Question Id : 967947261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mongol invasions of India were successfully repelled by the Delhi Sultanate during the rule of which of its rulers?
Options :

1. ¥ Alauddin Khilji

2. % Jalal-ud-din Khilji

3. ¥ Giyasuddin Tughlaq

4. % Shiba-ud-din Omar

Question Number : 59 Question Id : 967947261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE el Tead & o WM & A & SR HRA & AT HTHAUT Bl THAdYdd Tas [T dT?
Options :

1. ¢ A3 RSt

2. % ATd-3G-¢ 1 fgeroil

3. % T s

4. % fRE1-36-¢H IR

Question Number : 60 Question Id : 967947262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Dilwara temples were built during the reign of which dynasty?
Options :

1. % Mewar Dynasty

2. % Chalukya Dynasty



3. % Chauhan Dynasty
4. # Pratihara Dynasty

Question Number : 60 Question Id : 967947262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forey TR o XM-hTa | faaarsT HieRi &1 fAmfor ganm ur

Options :
1. % Hars Yeay
2. ¢ I oA
3. % IgH oA
4. % YfgR AIgel
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Question Number : 61 Question Id : 967947263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who founded the "Purva Mimamsa" school of Indian philosophy?
Options :

1. # Gautama Muni

2. % Kanada

3. % Jaimini

4. % Patanjali

Question Number : 61 Question Id : 967947263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRTT G- & "Jd HHNT" ST B RIIAT [ B2
Options :

1. ® Maa g

2. % HUMq

3. ¢ S

4. % Udvfal

Question Number : 62 Question Id : 967947264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Turco-Mongol conqueror, Timur, attacked Delhi during the rule of which dynasty?



Options :

1. # Ilbary dynasty
2. % Khilji dynasty
3. % Lodi dynasty

4. ¥ Tughlaq dynasty

Question Number : 62 Question Id : 967947264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol farar, famR = for ot & e o1a § feeet R siesHur far um
Options :

1. % SeaRI ISTae

2. % fgerell Ieae

3. % qIc IeIa e

4. JWW

Question Number : 63 Question Id : 967947265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Siege of Seringapatam, which was the final confrontation of the Fourth Anglo-Mysore War, took place in the year:
Options :

1. % 1804

2.9 1799

3. % 1794

4. % 1805

Question Number : 63 Question Id : 967947265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRATUEH BT IRET, S 1Y - AR g 1 Sifad Tara o, fg g & gam

Options :



1. * 1804
2.9 1799
3. % 1794
4. % 1805

Question Number : 64 Question Id : 967947266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these personalities is popularly referred to as the "Sage of Kanchi"?
Options :

1. # Paramhansa Yogananda

2. ¥ Shankaracharya

3. % Swami Prabhupada

4. % Swami Ramdas

Question Number : 64 Question Id : 967947266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 O 5T HAfddcd B b TU T i & HB" & T H ST Sl 82
Options :

1. % TREEY IS

2. ¢ Y

3. % TTH gYUTG

4. % G IHS™

Question Number : 65 Question Id : 967947267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was known as the Birdman of India?
Options :

1. # Chandi Prasad Bhatt



2. # Sunderlal Bahuguna
3. ¢ Salim Ali
4. # Jadav Payeng

Question Number : 65 Question Id : 967947267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ford YRd & FSE & U H ST STl Y12
Options :

1. % TSI UG Hg

2. % Hracfle] dgull

3. « Iferd 3t

4. % SI1Gd URIT

Question Number : 66 Question Id : 967947268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these Indian mathematicians was the first person to calculate the height of Mount Everest?
Options :

1. ¥ Radhanath Sikdar

2. % Srinivasa Ramanujan

3. # D.R. Kaprekar

4. % K.R. Parthasarathy

Question Number : 66 Question Id : 967947268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH I DI T HRATT IO TARRe Udd i GaTs bl 0T B 9Tl Ugal Sl Y12

Options :

1. ¢ YUY RpeR
2. % HfErY IHTEH




3. % 31 3R, HUBT
4. % P, IR, rdfaRp

Question Number : 67 Question Id : 967947269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Christian missionaries earned the title of Deenbandhu for their contributions to the Indian Freedom Movement?
Options :

1. % Mother Teresa

2. % William Carey

3. ¥ C.F. Andrews

4. % Jim Borst

Question Number : 67 Question Id : 967947269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & € fog 978 =Rt 3 WRdR WdadT sficier | 3 NTGH & it dHey 1 IuTfd T i
Options :

1. # AR W

2. % faferam

3. ¢ TILUW. Uggul

4. % fHIRE

Question Number : 68 Question Id : 967947270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indo-China border stand off at Doklam took place in the year:
Options :

1. % 2017

2. % 2018

3. % 2020



4. % 2019

Question Number : 68 Question Id : 967947270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SiHa™ § HRA-dIH ST TRty 9 9o & g A
Options :

1. ¥ 2017

2. % 2018

3. % 2020

4. % 2019

Question Number : 69 Question Id : 967947271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sports-person was awarded the Padma-Vibhushan in 20207
Options :

1. # Mahendra Singh Dhoni

2. # Neeraj Chopra

3. % M C Mary Kom

4. % Abhinav Bindra

Question Number : 69 Question Id : 967947271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford RSt o1 2020 & Ta1-faywor & wwri=a fovam a4t
Options :

1. % Hg= Rig 4l

2. % RS AIgST

3. AT B

4. % g fgT



Question Number : 70 Question Id : 967947272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these states became the first to hold three-phase elections during the COVID-19 pandemic?
Options :

1. # Assam

2. ¥ Bihar

3. % Kerala

4. % West Bengal

Question Number : 70 Question Id : 967947272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y DI A1 I HIAS-19 HETHRI o TR <1+ aRUT H FA1d BRI aTell Ugal 9§17
Options :

1. # 344

2. ¢ fogR

3. % oRd

4. % UiYH &I

Question Number : 71 Question Id : 967947273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The current National Education Policy (NEP) is the third education policy to be passed by the Union Cabinet, in the year:
Options :

1. % 2021

2. % 2018

3. % 2019

4. 2020

Question Number : 71 Question Id : 967947273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2021
2. % 2018
3. % 2019
4. % 2020

Question Number : 72 Question Id : 967947274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states had the highest representation in the Constituent Assembly?
Options :

1. % United Provinces

2. % Madras

3. ¥ Bombay

4. % Bihar

Question Number : 72 Question Id : 967947274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed # 9 forg ey &1 Sfay™ gun # gaiide ufaffda ur
Options :

1. ¢ Ggad Uid

2. % Hglg

3. % §I§g

4. % f98R

Question Number : 73 Question Id : 967947275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Cabinet Mission was formed under which British Prime Minister?
Options :

1. # Sir Winston Churchill

2. # Neville Chamberlain

3. % Clement Attlee

4. # Stanley Baldwin

Question Number : 73 Question Id : 967947275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiare TR &1 76 for fafe=r gem w2t & srefi= fopam mam am
Options :

1. % TR fa=ge gfdd

2. % Afde IR

3. ¢ faeaue T

4. % LAl STesia

Question Number : 74 Question Id : 967947276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Constitution of India replaced which of the following to become the country's fundamental governing document?
Options :

1. #* Indian Councils Act, 1861

2. % Government of India Act,1935

3. % Indian Independence Act, 1947

4. # Government Of India Act, 1919

Question Number : 74 Question Id : 967947276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YR gRyg IagH, 1861
2. ¢ YRd WPHR AHTH, 1935
3. % YR ddAdr fAHTH, 1947
4. % YR PR AT, 1919

Question Number : 75 Question Id : 967947277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Chairman of the Committee on the Functions of the Constituent Assembly?
Options :

1. % J.B. Kriplani

2. % A.V. Thakkar

3. % Jawaharlal Nehru

4. ¥ G.V. Mavalankar

Question Number : 75 Question Id : 967947277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G THT & ST IR TAfT BT Segef o U1
Options :

1. % S.&1. pYamH!

2. % Tl 3FhR

3. % TAEIAId Hg®

4. Sft. 91, AR

Question Number : 76 Question Id : 967947278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suraj Lata Devi is associated with which of the following sports?
Options :



1. ¥ Hockey
2. * Cricket
3. * Badminton

4. ¥ Gymnastics

Question Number : 76 Question Id : 967947278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied & © fhg W ¥ IR adr ¢at Hefid g
Options :

1. ¥ gleb!

2. % fopobe

3. % qgfifed

4, % foHTRESY

Question Number : 77 Question Id : 967947279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following became the world's youngest ever grandmaster, in July 20217
Options :

1. # Prithu Gupta

2. # Nihal Sarin

3. % Leon Mendonca

4. ¥ Abhimanyu Mishra

Question Number : 77 Question Id : 967947279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Y Il



2. % g W’
3. % feRIM Al
4. SFHHg Toe

Question Number : 78 Question Id : 967947280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these members of the Indian women's cricket team holds credit for the most ODI runs for India?
Options :

1. # Jhulan Goswami

2. % Harmanpreet Kaur

3. ¥ Mithali Raj

4. % Punam Raut

Question Number : 78 Question Id : 967947280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRATT Afga fdbe S0 & 390 I fhy e & U YR & oI Ja9 31fdfes ODI 39§71 671 97 82
Options :

1. % I AT

2. % T HR

3. ¢ et I

4. % UAHII3d

Question Number : 79 Question Id : 967947281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India won its first Test victory in 1952 under the captainship of:
Options :

1. ¥ Vijay Hazare

2. % Madhav Apte



3. % Pankaj Roy
4. * Vinoo Mankad

Question Number : 79 Question Id : 967947281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A 1952 H S0+ Ugell ¥ Sitd b eep! shearit H Sifeit:
Options :

1. ¢ oo ek

2. % HIYd TP

3. % UhWI Y

4. % FHAIBS

Question Number : 80 Question Id : 967947282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Indian national cricket team play its first test match at Lord's stadium?
Options :

1. % 1928

2.9 1932

3. % 1930

4. % 1934

Question Number : 80 Question Id : 967947282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1928

2.9 1932

3. % 1930




4. % 1934
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Question Number : 81 Question Id : 967947283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A board 5 feet 3 inches long is divided into 3 equal parts. What is the length of each part?



Options :

1. # 1 foot 8 inches
2. ¥ 1 foot 9 inches
3. # 1 foot 10 inches
4. % 2 feet

Question Number : 81 Question Id : 967947283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5ThIC 3 39 dd ds B 3 SRIER U H S1eT 71 & | TS U &1 ddTs o1 67
Options :

1. % 1 pcgsd

2.¥ 1HC9sd

3.% 1 e 105

4. % 2T

Question Number : 82 Question Id : 967947284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a2 + b% = 2330 and ab = 1147, then what is the value of (a+b)2/(a—b)2?
Options :

1. ¥ 128.44

2. % 129

3. % 127.54

4. % 130

Question Number : 82 Question Id : 967947284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe a2 + b2 = 2330 3R ab = 1147, A (a+b)*/(a-b)? BT AT T 82
Options :



1. ¥ 128.44
2. %129
3. % 127.54
4. % 130

Question Number : 83 Question Id : 967947285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The classes start at 9:30 a.m. and ends at 2:00 p.m. There are four periods and students gets 5 minutes break after every period. There is a 15
minutes extra break between second and third period. What is the duration of each period?

Options :
1. % 65
2. % 55
3.4 61.25
4. % 50

Question Number : 83 Question Id : 967947285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEMT 9:30 AT T3 8T & 3R 2:00 3IRTE JATK it & | TR BT Bl & 3R DI DI & B8 & 918 5 fiFe o1 favm raar g1
G 3R AR weq1-He & o9 15 e &1 sifafvad faRm 81 8 | Ui® Fafl-8c i 3afy a1 g2

Options :

1. % 65

2. % 55

3.v 61.25

4. % 50

Question Number : 84 Question Id : 967947286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The traffic lights at three different road crossings change after every 36 seconds, 50 seconds and 72 seconds respectively. They all change
simultaneously at 9:45:00 hours. What time will they again change simultaneously?



Options :

1. # 11:15:00
2. % 10:45:00
3. # 11:05:00
4. 10:15:00

Question Number : 84 Question Id : 967947286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIET-SET TS IRTE TR <Ithdh T3C HHTT: TA® 36 Uhs, 50 Vs 3R 72 e & §I¢ saad! ¢ 3 T+ T 1Y 9:45:00 T
geadt g1 3 fore Iu fiR A T A1y dgat?

Options :

1. % 11:15:00

2. % 10:45:00

3. % 11:05:00

4.+ 10:15:00

Question Number : 85 Question Id : 967947287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper has a sale of Rs. 6200, Rs. 5900, Rs. 6600, Rs. 7700, Rs. 5000 and Rs. 4000 for 6 months. What should be the sale of month 7 so
that the average sales for 7 months is Rs. 6300?

Options :
1. ¥ 8700
2. % 6300
3. % 3500
4. % 4200

Question Number : 85 Question Id : 967947287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP GHMER DI 6 TG & fo1T 6200 BUT, 5900 AT, 6600 FUY, 7700 FUT, 5000 ¥UYT 3R 4000 UL &1 faeh! i g1 7 A BI faeht T




B! AT dlfcs 7 HEA T 3Id fashT 6300 FTT B2
Options :
1. ¥ 8700
2. % 6300
3. % 3500
4. % 4200

Question Number : 86 Question Id : 967947288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average run scored of Dhiraj for 50 innings is 60 runs. His highest score exceeds his lowest score by 172 runs. If these two innings are
removed then the average of the remaining 48 innings is 55 runs. What is the highest score of the player?

Options :
1. ¥ 266
2. % 256
3. % 246
4. = 236

Question Number : 86 Question Id : 967947288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS & 50 TIRET T ST 7T SFRIA I 60 3 & | SHDT SATH TR 3D FAdH WOR I 172 3 AF ¢ | TG 7 aH1 a1kl &1 ger fear
ST Y Y 48 TIRAY &7 3T 55 T g | AT 1 SaTH TR A1 82

Options :
1. ¥ 266
2. % 256
3. % 246
4. % 236

Question Number : 87 Question Id : 967947289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Azad buys petrol at Rs. 60, Rs. 70 and Rs. 80 for 3 consecutive years. What is the average cost per litre of petrol for Azad across the three years,
if he spent Rs. 4000 first year, 1.5 times of the first year amount in second year, 2 times of the first year amount in third year?

Options :

1. % Rs. 78.98
2. % Rs. 76.57
3. ¥ Rs. 71.32
4. % Rs. 51.5

Question Number : 87 Question Id : 967947289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TSIG = TR 3 I8 A 60 Y, 70 TAY 3R 80 $UT H U WRIGT| - I § SATSIG o 78 Ufd clier Ugidl &) Siid arTd & 5, Al
IT Ugd ¥ 4000 $UY 99 fHU, IR a8 T Ugd ay i R 6T 1.5 T 0 fobar, TR a8 H ggdl ay &t i &1 2 71 37 fwar

Options :

1. % 78.98 ¥UU
2. % 76.57%4UQ
3.9 71.32%0U

4. % 51.5%UU

Question Number : 88 Question Id : 967947290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of rice has reduced by 14%. It enables the person to buy 12 kg more for an additional Rs. 200. What is the reduced price per kg?
Options :

1. % Rs. 12.45

2. % Rs. 13.33

3. ¥ Rs. 15.75

4, ¥ Rs. 16.67

Question Number : 88 Question Id : 967947290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



qad b G H 14% 1 HH TS ¢ | T8 Afad o SifaiRad 200 FUTH 12 kg 31T WIe T e SH1G1 ¢ | Ul kg T §31 Jed F1 82
Options :

1. % 12.45%00

2. % 1333300

3. % 15.75%4U

4. ¥ 16.67 30T

Question Number : 89 Question Id : 967947291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two tailors A and B are paid a total of Rs. 600 per week by their employer. If A is paid 120% of the sum paid to B, how much is B paid per
week?

Options :
1. % 273
2. % 360
3. % 420
4. % 182

Question Number : 89 Question Id : 967947291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 goff A 3R B &Y 3% Faiadl gRT Ul I8 $d 600 FUT BT YTAM fHa1 a1 €1 afe A &1, B B YT o1 113 R 6T 120% YT
forar ST €, Y B 1 Ufa Twarg fd=1 Y fasan sirar g2

Options :

1. v 273

2. % 360

3. % 420

4.% 182

Question Number : 90 Question Id : 967947292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In an examination, 10% of the applicants were found ineligible and 85% of the eligible candidate belonged to general category. If 675 eligible
people belonged to other category then how many candidates applied to the exam?

Options :
1. % 3825
2. % 4500
3. % 3750
4. % 5000

Question Number : 90 Question Id : 967947292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T H, 10% 3MTdGeh MU UTE T 31R 85% U IFICIR I 90 & U1 Tfe 675 U sufad 3 9ot & &, Y fpa IFfieari 3
TRie § 3MrdeA foar U

Options :

1. % 3825

2. % 4500

3. % 3750

4. ¥ 5000

Question Number : 91 Question Id : 967947293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul purchased an item at Rs. 500 and paid an additional GST of 18%. Another item was purchased for Rs. 400 and an additional GST of 5%.
What percent of the GST Rahul had to pay after taking the two items on an average?

Options :

1. ¥ 14.1 percent
2. % 12.2 percent
3. % 13.3 percent

4. % 11 percent

Question Number : 91 Question Id : 967947293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T8 = 500 TUY H U % WIS 3R 18% SMARad GST BT YITAH [HaT| Th 37 I DI 400 $UY H WRIGT AT 3R 5% PT fdRad GST
TR 7T | ST &1 ag3f &1 A o TG Vg d B! faba UTRId GST BT I AT UST?

Options :

1. % 14.1 Ufa=rd
2. 12.2 Ufderd
3. % 133 gfavrd
4. % 11 gfard

Question Number : 92 Question Id : 967947294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A retailer marks all his goods at 67% above his cost price and gives 22% discount on the marked price thinking that he will make a profit of 45%.
What is the actual profits on sales?

Options :

1. # 30 percent

2. % 30.26 percent
3. % 40 percent

4. % 40.26 percent

Question Number : 92 Question Id : 967947294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HedhR [aondl 3 T+t Q! & 31U aTd Jod ¥ 67% e 3ifdrd BT § 3R I8 e sifohd Jod IR 22% &I §e odl § [ 39
45% T ATY gITT| feht IR aRafade ary &1 g2

Options :

1. % 30 gfrd

2. ¥ 30.26 Ufa=rd
3. % 40 gfard

4. % 4026 Ufa2rd



Question Number : 93 Question Id : 967947295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parker purchased a machinery at Rs. 85,000. He spent Rs. 5,000 on repair and Rs. 1500 on the transportation. He sold it in a 15% profit. What is
the selling price of that machinery?

Options :

1. % 105225
2. % 97750
3. % 100250
4. % 102500

Question Number : 93 Question Id : 967947295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTHR 7 85,000 3T H T AR @R ST TR W 5,000 SUT 3R GRTET W 1500 SUT Y fHU | ST Y 15% 1Y W ST I
TRt &1 fasha g 1 32

Options :

1. ¥ 105225

2. ® 97750

3. % 100250

4. % 102500

Question Number : 94 Question Id : 967947296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A profit earned by selling an article for Rs. 1800 is double the loss incurred when the same article is sold for Rs. 900. At what price should the
article be sold to make 25% profit?

Options :
1. # 1350
2. % 1500
3. % 1650
4. % 1800



Question Number : 94 Question Id : 967947296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh g 1 1800 U H SehR 31Tl febarm 7 <, ST ag 1 900 T H e TR §% 811+ 1 &l TH1 8 1 25% T 3ifold R ob forg o
D! ford I W &= ST A1 ?

Options :

1. % 1350

2. ¥ 1500

3. % 1650

4. % 1800

Question Number : 95 Question Id : 967947297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b=7:9andb:c=11:13 then whatisa: c?
Options :

1. = 117:99

2. % 91:99

3.9 77117

4. % 99:91

Question Number : 95 Question Id : 967947297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qﬁa:b=7:93‘ﬁTb:c=11:13?ﬁa:c5P3|T%?
Options :

1. % 117:99

2. % 91:99

3.9 77 : 117

4. % 99:91



Question Number : 96 Question Id : 967947298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money of Rs. 1200 is divided among A, B and C in such a way that A gets Rs. 100 more than B and B gets Rs. 150 more than C. What
is the ratio of their shares?

Options :

1. # 31:25:04
2. % 25:31:16
3. % 16:25:09
4. ¥ 31:25:16

Question Number : 96 Question Id : 967947298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1200 ¥UY B YRR DI A, B 3R ¢ H 39 UHR UG fvar a1 8 f6 A &1 B ¥ 100 TUT 31 fArdd § 3R B &Y ¢ T 150 JUT 31w
fired 81 371 iRl T SiguTd 1 82

Options :

1. % 31:25:04

2. % 25:31:16

3. % 16:25:09

4. ¥ 31:25:16

Question Number : 97 Question Id : 967947299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zinc and copper are melted together to form an alloy in the ratio 3 : 11. 35 kg of zinc has been consumed in it. What is thrice the weight of the
copper that was consume to form this alloy (in kg)?

Options :
1. % 35
2.%70
3. % 140
4. ¥ 385



Question Number : 97 Question Id : 967947299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 31R dfd &1 T A1y fUaaaR 3: 11 & T U HTg §18 Ol 81 S9H 35 kg ST &1 WU 85 & | 39 7N (kg H) DI T &
fﬁumﬂﬁo‘qwaﬁ$w\wﬁﬁqwaﬂ1&§m

Options :

1. % 35

2. %70

3. % 140

4. % 385

Question Number : 98 Question Id : 967947300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A mixture has 15 litres of milk and 5 litres of water. If 2 litres of water is replaced by 4 litres of milk and 3 litres of water, what is the new ratio of
milk and water in the solution?

Options :
1. % 19:8
2. % 15:8
3. ¥ 19:6
4. % 15:6

Question Number : 98 Question Id : 967947300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YU H 15 Wiex g SR 5 Wiex Uil g1 A 2 Tex Ut &l 4 diex g¥ 3R 3 diex Uil ¥ Sad a1 3, ot °id & g 3R U1 &1 =11
3{UTd T g

Options :

1. ® 19:8

2. % 15:8

3.4 19:6




4. % 15:6

Question Number : 99 Question Id : 967947301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what simple interest will a sum of money triple in 21 years?
Options :

1. # 14.9 percent

2. % 9.5 percent

3. % 11.7 percent

4. # 12.8 percent

Question Number : 99 Question Id : 967947301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI YRR ford ATUROT TS WR 21 T A i+ AT g1 SE?
Options :

1. % 14.9 Ufa=rd

2. ¥ 9.5 Ufd=rd

3. % 11.7 Yfd=rd

4. % 12.8 gfa=rd

Question Number : 100 Question Id : 967947302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest amount on a sum of money for 2.5 years at 10% p.a. is Rs. 50 less than the amount of simple interest on the same sum for 3.5
years at 8% p.a. What is the sum of money?

Options :

1. % Rs. 1265.76
2. % Rs. 1750.76
3. % Rs. 1333.33
4. ¥ Rs. 1666.67



Question Number : 100 Question Id : 967947302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt e RIR OR 2.5 9 o forw Ul 9 10% & &R & IR A7 i AR, 3.5 a6 o ferg Ufdas 8% o &= F GH A O IR ST P
IR 50 $UY HH & | 4 MR AT 52

Options :

1. #® 1265.76 2UUY

2. % 1750.76 24U

3. % 1333.33%4U

4. ¥ 1666.67 24U

Arithmetic Ability2

Group Number : 6

Group Id : 96794716
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 96794716
Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794718
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 967947303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman invested 7/12 of his capital in 10% p.a. simple interest. 1/4th of his capital is invested at 8% p.a. and rest in 7% p.a. If his annual income is
600 then what is his capital amount?

Options :

1. ¥ Rs. 4534.67
2. % Rs. 9678.65
3. ¥ Rs. 6666.67
4. % Rs. 3333.33

Question Number : 101 Question Id : 967947303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 37O Yot BT 7/12, U T 10% & ATURT &ToT F =T fordT | ST Goht BT 1/4 HIT Ui T 8% B ax I Fa=1 f5ar Ta1 3R A9 &t
yfaad 70, & fraw fooan man| afe Suet afitfer 3 600 § A ST doit A 1 82

Options :

1. % 4534.67 24U
2. % 9678.65 2UU
3. ¥ 6666.67 ¥UUQ
4. % 3333.33 24U

Question Number : 102 Question Id : 967947304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person has lent out a certain sum of money on simple interest and same sum at compound interest. The ratio between the difference between
the compound interest and simple interest of 3 years and 2 years respectively is 31:10. What is the rate of interest?



Options :

1. ¥ 10 percent
2. % 20 percent
3. % 15 percent
4. % 25 percent

Question Number : 102 Question Id : 967947304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fad = i IR WUR e IR SR I € R T g ST R IUR T g 1 HH: 3 T 3R 2 a9 & Tehgfeg SATS 3R WIERTT
TS & d1d o SR BT STATd 31:10 & | STST & T 52

Options :

1. ¢ 10 gfa=rd

2. % 20 gfa=rd

3. % 15 yfaerd

4. % 25 Jfa=rd

Question Number : 103 Question Id : 967947305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train covers a distance of 10 km in 15 minutes. If the speed is decreased by 4 kmph, the time taken by it to cover the same distance
1s

Options :

1. # 18.33 mins
2. ¥ 16.67 mins
3. % 15.33 mins
4. % 21.67 mins

Question Number : 103 Question Id : 967947305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP YS! 15 e & 10 km Y G T B ® 1 T T H 4 kmph &1 HHt R & et B, 6 99 38 99 34 § 39 gR7 foran mar gog




gl
Options :
1. % 1833 e
2. ¥ 16.67 fiC
3. % 1533 e
4. % 21,67 f0FC

Question Number : 104 Question Id : 967947306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Urmila travels from D to E a distance of 300 kms in 6 hours. She returns to D in 4 hours 30 minutes. What is the twice the average speed of
Urmila?

Options :

1. % 99.23 kmph
2. % 114.28 kmph
3. % 126.48 kmph
4. % 85.35 kmph

Question Number : 104 Question Id : 967947306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3t 6 ¥ H D ¥ E TP 300 kms B g3 0 Bt 81 98 4 °e 30 fFie ¥ D R aroy ot 81 I ot sia mfa § S fa s g2
Options :

1. ¥ 99.23 kmph

2. % 114.28 kmph

3. # 126.48 kmph

4. % 85.35 kmph

Question Number : 105 Question Id : 967947307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a flight of 900 km, an aircraft was slowed down due to bad weather and it's average speed for the trip reduced by 150 kmph. The time for the



flight increased by 30 minutes. What is the duration of the original flight (in hours)?
Options :

1. % 1.25

2.9 1.5

3. % 1.75

4. % 2

Question Number : 105 Question Id : 967947307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

900 km P IS H, WRIE AGH & HRUT far <fIAT 81 77 3R I B S T 150 kmph T HH 81 T8 | SSH & G0 H 30 fiFe ot gfs
S| 7T SSM &1 fafty (I ) g

Options :

1. % 1.25

2.% 1.5

3. % 175

4. %2

Question Number : 106 Question Id : 967947308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is sufficient to pay the wages of A for 30 days or B for 20 days. The same sum of money is sufficient to pay the wages for both
for how many days?

Options :
1. ® 10
2.¥ 12
3.% 14
4. % 16

Question Number : 106 Question Id : 967947308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A B 30 faT1 Y Tolge! A1 B Bt 20 &l B Aogl &1 YT B o ol Teb 1R AT B | &1 Y Tolge] o1 YT R o forg JaH
YeRIRT fore et 3 fore e &2

Options :

1. % 10

2.¢ 12

3. % 14

4.% 16

Question Number : 107 Question Id : 967947309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram and Shyam are paid equally for a piece of work that they complete in 9 days. However, if Ram does it alone, he will take 15 days. If they
are paid Rs. 600 each. What should be the actually payment if they are paid according to their work done?

Options :

1. % Ram =420 Shyam = 780
2. % Ram = 780 Shyam = 420
3. % Ram =480 Shyam = 720
4. % Ram = 720 Shyam = 480

Question Number : 107 Question Id : 967947309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R T &I T S o o8 THH &0 I YT foar ot € for 9 9 &1 8§ 1 & g | gTaifop, afe IH 3idbdl HRdl §, I 39 15 A
%ﬁ%d% 600 FUY TS BT Y a1 T § | AfS I8 3% gRI fhl T S & SR YT T Sffal g df arad H Y &
?

Options :

1. % MH =420 YMH = 780
2. % [H =780 WMH =420
3. % YH =480 YMH =720
4, ¥ XMH =720 YTH = 480

Question Number : 108 Question Id : 967947310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

54 men can complete a work in 10 days. 5 days after they started working, 20 more men joined them. After 7 days from inception, 24 men left.
How many days will they take to complete the remaining work?

Options :
1. ¥ 244
2. % 26
3.% 28
4. %30

Question Number : 108 Question Id : 967947310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

54 3TEH Th B DI 10 &1 T T HR o & | 3P BT Y& B & 5 137 1€, 20 3R T 3% 1Y IS T HRY & 7 fef & 91g, 24
T3Y BISdh I M| A B & R HA | I8 fobaq foT i

Options :

1.v 2.44

2. %26

3.% 28

4.% 30

Question Number : 109 Question Id : 967947311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 men and 2 boys can do a piece of work in 12 days working 24 hours a day while 2 men and 3 boys can do the same job in 16 days working 24
hours a day. How many days will 1 man and 1 boy will take if they only work for 8 hours a day?

Options :
1. % 57.6
2. % 76.8
3. % 96

4. ¥ 115.2



Question Number : 109 Question Id : 967947311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 3MTEH 3R 2 TSP Ufafed 24 B B0 Hb 12 &A1 H T o1 B Yohd g Safb 2 MMEHT 3R 3 TSh I ST B ufafe 24 9 HH
PP 16 TN H P THd g1 TS 1 MSH 3R 1 ASHT g7 H had 8 G HH I dl I fobaa fa e

Options :

1. % 57.6

2. % 76.8

3. % 96

4.4 1152

Question Number : 110 Question Id : 967947312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of a plot that is rectangular in shape is 55% more than it's breadth. If the difference between the length and the breadth is 33 cm, then
find the area of the rectangle (in sq cm)?

Options :
1. ® 2790
2. % 5580
3. % 4185
4. % 8370

Question Number : 110 Question Id : 967947312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AR YIS DI TalTs ITD! TSI T 55% 31w g1 IS daTs 3R IS8 & aiid BT 3R 33 em &, <1 3T BT &FH ( sq em ) F1d
B2

Options :

1. % 2790

2. ¢ 5580

3. % 4185

4. % 8370




Question Number : 111 Question Id : 967947313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bowl is in the shape of hemisphere. It is filled with milk up to the brim. The milk is transferred into a cylindrical vessel that has height 20%
more than it's radius. If the diameter is same for both the bowl and the cylinder, what percentage of the volume will be filled in the cylindrical
vessel?

Options :

1. * 50 percent

2. % 60 percent

3. % 75 percent

4. ¥ 55.55 percent

Question Number : 111 Question Id : 967947313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HeRT M AHHR H g1 TYH fhR dF gY RT3 & | g8 B Uh Sa-THR dai- H RIFTARG fohar Srdn | fores! $ars Bsar § 20%
31 g1 afe HeRY 3R ST S ol T A 8, ) SR §dd A Taa- o1 ford=T ufaera HR1 S

Options :

1. % 50 gfc=rd

2. % 60 Ufrd

3. % 75 gfa=rd

4. ¥ 55.55 gfaerd

Question Number : 112 Question Id : 967947314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water flows through a cylindrical pipe of internal diameter 14 cm at 3 m per second. What is the volume of the water discharged in 8 minutes 59
seconds (in kilo litres)?

Options :
1. % 23.1
2.%249



3. # 34.65
4. % 693

Question Number : 112 Question Id : 967947314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3HTAR® T 14 cm & STIHR TISY & 10T F UHT 3 m Ul s o1 fd T sgar g1 8 e 59 b H (fvan offex #) fA=afia few o
Ut T 3ad &1 82

Options :

1. % 231

2.9 249

3. % 34.65

4. % 693

Question Number : 113 Question Id : 967947315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the total population is 100000 then what is the sum of population of lowest and highest population in these states?



Populationin %

Options :

1. % 30000
2. % 10000
3. % 20000
4. ¥ 40000

Question Number : 113 Question Id : 967947315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T H SFERSAT 100000 B A 37 ISl T T HH SHEREAT 3R IedH SIHEReT BT TN -7 82




% W STHEIT

Options :

1. % 30000
2. % 10000
3. % 20000
4. ¥ 40000

Question Number : 114 Question Id : 967947316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the total of all the sources of funds is Rs. 5000 crores, then what is the difference between the amount collected under market borrowing and
SPVS?



Sources of funds in %

Options :
1. % 500
2.¥ 250
3. % 750
4. % 200

Question Number : 114 Question Id : 967947316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe A & T Wil 1 31T 5000 HRIS FUT B, dl SR IYR 3R SPVS & ded Tebiad M & s o7 3R 82



Options :
1. % 500
2. ¥ 250
3. % 750
4. % 200

Question Number : 115 Question Id : 967947317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the total population is 2500000 then what is the percent difference between illiterate female and literate male taking literate male as the base?



Literacy Distribution

Options :

1. # 20 percent
2. ¥ 80 percent
3. % 60 percent
4. # 70 percent

Question Number : 115 Question Id : 967947317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS A STHYBAT 2500000 §, A &R T 1 YR AFD FRER AR 3R WeR gl & o fhrdm ufawrd &1 sfar 82



Options :

1. % 20 gfa=ra
2. ¢ 80 Ufa=Id
3. % 60 Uf=rd
4. % 70 gfaerd

Question Number : 116 Question Id : 967947318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the total amount spent on sports during the year be Rs. 1800000, the amount spent on basket ball exceeds that on tennis by what percent?



Sports Distribution

Options :

1. ¥ 20 percent
2. % 22 percent
3. % 21 percent
4. ® 16 percent

Question Number : 116 Question Id : 967947318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%r%aﬁ%ﬁm@ﬁwwﬁﬂéﬁﬂﬁr 1800000 FUT §, TRCaId UR W B! T3 M, 9 IR T o1 T I fpa- ufawra sifde
?




Options :

1. ¢ 20 Ufa=rd
2. % 22 gfard
3. % 21 gfard
4. % 16 Gfaerd

Question Number : 117 Question Id : 967947319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total number of marks obtained in Dec 2019 is what percentage of the total marks obtained in June 2019?



400 - 375

d 329 373
350 319 .

342

300 -+
250 o
200 4
150 4

Marks obtained

100 4
50 4

Feb-19 Apr-19 Jun-19 Aug-19 Qet-19 Dec-19

Maonths

Options :

1. # 116.3 percent
2. % 113.0 percent
3. % 116.0 percent
4. ¥ 113.6 percent

Question Number : 117 Question Id : 967947319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEaR 2019 T UG 3ieh! &1 TS A 2019 F Ul H el BT a1 U= 82



350 i 329 323 i
300 - : ~——
250 -

200

3P T

150
100
50

THIad-19 3HA-19 719 TEE-19  SEgav19  fewEw-19

Options :

1. % 116.3 Ufa=rd
2. % 113.0 Ufa=rd
3. % 116.0 Ufa=rd
4. ¥ 113.6 Ufa=rd

Question Number : 118 Question Id : 967947320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the exports to imports ratio. In which year was the percentage increase(as compared to previous year) in this ratio the maximum
for company O?



= Company N —=—Company O
led - 1.47 1.45
140 -
1.20 4
1.00 -
0.80 -

0.40 -

Exports to imports ratio

0.40

0.20 -

2000 2001 2002 2003 2004 2005 2006
Year

Options :
1. % 2001
2. ¥ 2004
3. % 2000
4. % 2002

Question Number : 118 Question Id : 967947320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig I fFafd § SATd & SUTd &1 e=1idl 8 | 39 SrJuTd # ford aff & duit o & forw ufawrd gfs (e adf &t gamn #) sifiean ot



~=PHOAIN DUl 0
160 1 1.47 1.49
140 A
E 120 S
4T 100 -
E 0.80
0.60 -
E 0.40
oA 0.40
2000 2001 2002 2003 2004 2005 2006
ad
Options :
1. % 2001
2. ¥ 2004
3. % 2000
4. % 2002

Question Number : 119 Question Id : 967947321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the ratio of the least number of students who left the school to the maximum number of students who joined the school in the given
period?



—s—Number of Students Left —=—Number of Students Joined
350 =

286 289

300 -

250 -

200 -

150 4

100 -

MNumber of students

2015 2016 2017 2018 2019 2020 2021
Year

Options :

1. % 0.64:1
2. % 0.4:1
3.9 0.46:1
4. % 0.6:1

Question Number : 119 Question Id : 967947321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3l B fyarerd S aTe ©F &1 rdH B BT fIeTer B U3 &3 a1 ST Bt 3ifiies s TRem ¥ 3FUTd &1 37



~=-Blg I O B H@&AT = WA B+ 16t ST Bt H=A
330 +
300 - —; Eiﬁ
- ~—~—_ 246
et / RH“M 210 ’/ s ‘I:
- 3 e i o - 195
E 200 - o b > .
= e — —— -
% 150 2 178 175 ———— i -
7 159 : i
E 100 134
30 -
1]
2015 2016 2017 2018 2019 2020 2021
a4

Options :

1. % 0.64:1
2. % 0.4:1
3.9 0.46:1
4. % 0.6:1

Question Number : 120 Question Id : 967947322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Average annual exports of Company F is approximately what percentage of the average annual exports for Company H?
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Options :

1. ¥ 110.4 percent
2. % 114.0 percent
3. # 111 percent
4. % 112 percent

Question Number : 120 Question Id : 967947322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 110.4 Ufd=rd
2. % 114.0 Ufc=rd
3. % 111 gfd=rd
4. % 112 fa=d
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Question Number : 121 Question Id : 967947323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

He did / nothing but / to procrastinate.
Options :

1. ® Hedid

2. % nothing but

3. % to procrastinate.

4. % No Error

Question Number : 121 Question Id : 967947323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

He did / nothing but / to procrastinate.
Options :



1. # He did

2. % nothing but

3. % to procrastinate.
4. ¥ No Error

Question Number : 122 Question Id : 967947324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Each of these / girls have made / her own breakfast.
Options :

1. % Each of these

2. # girls have made

3. ¥ her own breakfast.

4. % No Error

Question Number : 122 Question Id : 967947324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Each of these / girls have made / her own breakfast.
Options :

1. # Each of these

2. % girls have made

3. % her own breakfast.

4. ¥ No Error

Question Number : 123 Question Id : 967947325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The critical factor is not the / absence of difficulty but the ability / to bounce back and emerge as stronger.
Options :

1. # The critical factor is not the

2. # absence of difficulty but the ability

3. % to bounce back and emerge as stronger.

4. % No Error

Question Number : 123 Question Id : 967947325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The critical factor is not the / absence of difficulty but the ability / to bounce back and emerge as stronger.
Options :

1. # The critical factor is not the

2. # absence of difficulty but the ability

3. ¥ to bounce back and emerge as stronger.

4. % No Error

Question Number : 124 Question Id : 967947326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Both the cars were / on the bridge when / it was collapsed.
Options :
1. # Both the cars were

2. % on the bridge when



3. % it was collapsed.
4. # No Error

Question Number : 124 Question Id : 967947326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Both the cars were / on the bridge when / it was collapsed.
Options :

1. % Both the cars were

2. % on the bridge when

3. % it was collapsed.

4. % No Error

Question Number : 125 Question Id : 967947327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The night I was meeting / her it was raining / cats and dogs.
Options :

1. ¥ The night I was meeting

2. # her it was raining

3. % cats and dogs.

4. % No Error

Question Number : 125 Question Id : 967947327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

The night I was meeting / her it was raining / cats and dogs.
Options :

1. ¥ The night I was meeting

2. # her it was raining

3. % cats and dogs.

4. % No Error

Question Number : 126 Question Id : 967947328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

My colleagues are now busy (to prepare) for the presentation.
Options :

1. % having prepared

2. ¥ preparing

3. ® prepared

4. # No correction required.

Question Number : 126 Question Id : 967947328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

My colleagues are now busy (to prepare) for the presentation.
Options :

1. # having prepared

2. ¥ preparing

3. % prepared

4. # No correction required.



Question Number : 127 Question Id : 967947329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The students’ visit to the labortory are (a few and far between.)
Options :

1. ¥ few and far between.

2. # few and a far between.

3. % few or far between.

4. # No correction required.

Question Number : 127 Question Id : 967947329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The students’ visit to the labortory are (a few and far between.)
Options :

1. ¥ few and far between.

2. # few and a far between.

3. % few or far between.

4. # No correction required.

Question Number : 128 Question Id : 967947330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We spent an hour discussing (about his character) from the movie.



Options :

1. # on his character
2. % his character

3. % upon his character

4. ¥ No correction required.

Question Number : 128 Question Id : 967947330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We spent an hour discussing (about his character) from the movie.
Options :

1. # on his character

2. ¥ his character

3. * upon his character

4. % No correction required.

Question Number : 129 Question Id : 967947331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Many man) would appreciate your concerns regarding pay hikes.
Options :

1. # A many man

2. % Many a men

3. ¥ Many a man

4. ¥ No correction required.

Question Number : 129 Question Id : 967947331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Many man) would appreciate your concerns regarding pay hikes.
Options :

1. # A many man

2. % Many a men

3. ¥ Many a man

4. ¥ No correction required.

Question Number : 130 Question Id : 967947332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

At age 13, he had become more interested in philosophy and music.
Options :

1. # grounded

2. ¥ seriously

3. % aggressively

4. # belligerently

Question Number : 130 Question Id : 967947332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

At age 13, he had become more interested in philosophy and music.
Options :

1. # grounded

2. ¥ seriously



3. % aggressively
4. # belligerently

Question Number : 131 Question Id : 967947333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They from the United States in 1933.
Options :

1. ¥ emigrated

2. % immigrated

3. # transported

4, % transferred

Question Number : 131 Question Id : 967947333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They from the United States in 1933.
Options :

1. ¥ emigrated

2. # immigrated

3. # transported

4. % transferred

Question Number : 132 Question Id : 967947334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The of the Olympic Movement during the 20th and 21st centuries has resulted in several changes to the Olympic Games.



Options :

1. # resolution
2. # revolution
3. % demarcation

4. ¥ evolution

Question Number : 132 Question Id : 967947334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The of the Olympic Movement during the 20th and 2 1st centuries has resulted in several changes to the Olympic Games.
Options :

1. % resolution

2. % revolution

3. # demarcation

4. ¥ evolution

Question Number : 133 Question Id : 967947335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

This growth has created challenges and controversies, including boycotts, doping, bribery, and a terrorist attack in 1972.
Options :

1. # massive

2. # humongous

3. % numerous

4. # petit

Question Number : 133 Question Id : 967947335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice.

This growth has created challenges and controversies, including boycotts, doping, bribery, and a terrorist attack in 1972.
Options :

1. # massive

2. % humongous

3. % numerous

4. % petit

Question Number : 134 Question Id : 967947336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Taj Hotels is a chain of luxury hotels

P. headquartered at Express Towers,

Q. by the founder of the Tata Group, Jamsetji Tata, in 1903, the company
R. and a subsidiary of the Indian Hotels Company Limited,

S. Nariman Point in Mumbai. Incorporated

is a part of the Tata Group, one of India's largest business conglomerates.
Options :

1. ¥ QSPR

2. % RPSQ

3. % PQRS

4. % SRQP

Question Number : 134 Question Id : 967947336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



Taj Hotels is a chain of luxury hotels

P. headquartered at Express Towers,

Q. by the founder of the Tata Group, Jamsetji Tata, in 1903, the company
R. and a subsidiary of the Indian Hotels Company Limited,

S. Nariman Point in Mumbeai. Incorporated

is a part of the Tata Group, one of India's largest business conglomerates.
Options :

1. ¥ QSPR

2. % RPSQ

3. % PQRS

4. % SRQP

Question Number : 135 Question Id : 967947337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Gandikota is a small village in the Kadapa district of Andhra Pradesh.

P. famously adjudged as the Grand Canyon of India.

Q. that streams from the Erramala hills. It is also known as

R. The village is majorly known for housing the spectacular gorge which is

S. The stunning gorge has been created by the waters of the famous river Pennar

the Hidden Grand Canyon of India as it isn’t very well known around the country.
Options :

1. ¥ RPSQ

2. % QSPR

3. % SPRQ

4. % PQRS

Question Number : 135 Question Id : 967947337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Gandikota is a small village in the Kadapa district of Andhra Pradesh.

P. famously adjudged as the Grand Canyon of India.

Q. that streams from the Erramala hills. It is also known as

R. The village is majorly known for housing the spectacular gorge which is

S. The stunning gorge has been created by the waters of the famous river Pennar

the Hidden Grand Canyon of India as it isn’t very well known around the country.
Options :

1. ¥ RPSQ

2. % QSPR

3. % SPRQ

4. % PQRS

Question Number : 136 Question Id : 967947338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Lifted by the subduction of

P. Nanga Parbat, lies just south of the northernmost bend

Q. to east-southeast in an arc 2,400 km (1,500 mi) long. Its western anchor,
R. the Himalayan mountain range runs west-northwest

S. the Indian tectonic plate under the Eurasian Plate,

of the Indus river.
Options :

1. # QRPS

2. % RSQP

3. ¥ PSRQ



4. v SRQP

Question Number : 136 Question Id : 967947338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Lifted by the subduction of

P. Nanga Parbat, lies just south of the northernmost bend

Q. to east-southeast in an arc 2,400 km (1,500 mi) long. Its western anchor,
R. the Himalayan mountain range runs west-northwest

S. the Indian tectonic plate under the Eurasian Plate,

of the Indus river.
Options :

1. ® QRPS

2. % RSQP

3. ®* PSRQ

4. ¥ SRQP

Question Number : 137 Question Id : 967947339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Labrador Current has a tendency to sometimes go farther south and/or east than normal.

P. After the sinking of RMS Titanic in 1912, the International Ice Patrol was set up.

Q This can produce hazardous shipping conditions,

R. The current has been known to transport icebergs as far south as Bermuda and as far east as the Azores.

S. It can carry icebergs into an area of the Atlantic where they are not usually found.

Its primary function is to track icebergs, including those found in areas of the ocean where they are rarely located.



Options :

1. # SQPR
2. % RPQS
3. ¥ QSRP
4. % PQSR

Question Number : 137 Question Id : 967947339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Labrador Current has a tendency to sometimes go farther south and/or east than normal.

P. After the sinking of RMS Titanic in 1912, the International Ice Patrol was set up.

Q This can produce hazardous shipping conditions,

R. The current has been known to transport icebergs as far south as Bermuda and as far east as the Azores.
S. It can carry icebergs into an area of the Atlantic where they are not usually found.

Its primary function is to track icebergs, including those found in areas of the ocean where they are rarely located.
Options :

1. ®* SQPR

2. # RPQS

3. ¥ QSRP

4. % PQSR

Question Number : 138 Question Id : 967947340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

PROFICIENT
Options :
1. ¥ SKILFUL



2. ® GREEN
3. ¥ IGNORANT
4. % CLUMSY

Question Number : 138 Question Id : 967947340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

PROFICIENT
Options :

1. ¥ SKILFUL
2. % GREEN

3. % IGNORANT
4. % CLUMSY

Question Number : 139 Question Id : 967947341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

CRUSADE

Options :

1. ¥ DEMONSTRATE
2. % EXPLAIN

3. ¥ STOPPAGE

4. % SIGNIFICANCE

Question Number : 139 Question Id : 967947341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.



CRUSADE

Options :

1. ¥ DEMONSTRATE
2. % EXPLAIN

3. ¥ STOPPAGE

4. % SIGNIFICANCE

Question Number : 140 Question Id : 967947342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

FERVID

Options :

1. ¥ COMPASSIONATE
2. % STRONG WILLED
3. % OPEN MINDED

4. % OBSTINATE

Question Number : 140 Question Id : 967947342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

FERVID

Options :

1. ¥ COMPASSIONATE
2. ¥ STRONG WILLED
3. ¥ OPEN MINDED

4. % OBSTINATE
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Question Number : 141 Question Id : 967947343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

ECCENTRIC
Options :
1. * RESONABLE



2. ¥ BIZZARE
3. ¥ CONTENT
4. % SELF- CENTRED

Question Number : 141 Question Id : 967947343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

ECCENTRIC

Options :

1. * RESONABLE

2. ¥ BIZZARE

3. % CONTENT

4. % SELF- CENTRED

Question Number : 142 Question Id : 967947344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

BELLIGERENT
Options :

1. ¥ AGGRESSIVE
2. % HOT

3. ¥ PEACE LOVING
4. ¥ CONTAMINATE

Question Number : 142 Question Id : 967947344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.



BELLIGERENT
Options :

1. ¥ AGGRESSIVE
2. % HOT

3. ¥ PEACE LOVING
4. ¥ CONTAMINATE

Question Number : 143 Question Id : 967947345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. #* DIASESE

2. % DIASEASE

3. ¥ DIASEACE

4. ¥ DISEASE

Question Number : 143 Question Id : 967947345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * DIASESE

2. * DIASEASE

3. ¥ DIASEACE

4. ¥ DISEASE

Question Number : 144 Question Id : 967947346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ®* EMBARASS
2. ¥ EMBARRASS
3. ¥ EMBARESS
4. % EMBARRAS

Question Number : 144 Question Id : 967947346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ EMBARASS

2. ¥ EMBARRASS

3. ¥ EMBARESS

4. ¥ EMBARRAS

Question Number : 145 Question Id : 967947347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PRECESION

2. % PRECESSITION

3. ¥ PRECESSION

4. % PRECESITION

Question Number : 145 Question Id : 967947347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # PRECESION

2. % PRECESSITION



3. ¥ PRECESSION
4. % PRECESITION

Question Number : 146 Question Id : 967947348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ REVERRENCE

2. ¥ REVERRANCE

3. # REVERANCE

4. ¥ REVERENCE

Question Number : 146 Question Id : 967947348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ REVERRENCE

2. % REVERRANCE

3. ¥ REVERANCE

4. ¥ REVERENCE

Question Number : 147 Question Id : 967947349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CONCESSIONAIRE

2. % CONCESIONAIRE

3. % CONCESSIONARE

4. % CONCESSIONAIR



Question Number : 147 Question Id : 967947349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CONCESSIONAIRE

2. % CONCESIONAIRE

3. ¥ CONCESSIONARE

4. % CONCESSIONAIR

Question Number : 148 Question Id : 967947350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To end in smoke

Options :

1. # Full of interest and excitement.
2. # To raise objections.

3. % To be destroyed or ruined.

4. % No real choice at all.

Question Number : 148 Question Id : 967947350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To end in smoke

Options :

1. # Full of interest and excitement.
2. # To raise objections.

3. % To be destroyed or ruined.



4. % No real choice at all.

Question Number : 149 Question Id : 967947351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Drew on the fancy

Options :

1. # To take up a difficult task.
2. % To use imagination.

3. % A rare article.

4. % A lucky person.

Question Number : 149 Question Id : 967947351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Drew on the fancy

Options :

1. # To take up a difficult task.
2. % To use imagination.

3. % A rare article.

4. % A lucky person.

Question Number : 150 Question Id : 967947352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Dressed to the nines
Options :



1. # To be late for an event.

2. ¥ Very well-dressed and fashionable.
3. % To take hours to get dressed.

4. # To be inappropriately dressed.

Question Number : 150 Question Id : 967947352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Dressed to the nines

Options :

1. # To be late for an event.

2. ¥ Very well-dressed and fashionable.
3. % To take hours to get dressed.

4. % To be inappropriately dressed.

Question Number : 151 Question Id : 967947353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Dog Day of summer

Options :

1. ® Hot food.

2. % An event hosted for pets.
3. # To barge in a event.

4. ¥ Hottest day of summer.

Question Number : 151 Question Id : 967947353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Dog Day of summer

Options :

1. % Hot food.

2. # An event hosted for pets.
3. % To barge in a event.

4. ¥ Hottest day of summer.

Question Number : 152 Question Id : 967947354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that one cannot stop from happening.
Options :

1. # Indispensable

2. # Dispensable

3. % Corpulent

4. ¥ Inevitable

Question Number : 152 Question Id : 967947354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that one cannot stop from happening.
Options :

1. # Indispensable

2. # Dispensable

3. # Corpulent

4. ¥ Inevitable

Question Number : 153 Question Id : 967947355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The emblems or insignia of royalty
Options :

1. ¥ Regalia

2. % Bauble

3. % Cuffs

4. % Cameo

Question Number : 153 Question Id : 967947355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The emblems or insignia of royalty
Options :

1. ¥ Regalia

2. % Bauble

3. # Cuffs

4. % Cameo

Question Number : 154 Question Id : 967947356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A political system based on the government of men by God

Options :
1. # Neocracy
2. % Thearchy



3. % Ochlocracy
4. ¥ Plutocracy

Question Number : 154 Question Id : 967947356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A political system based on the government of men by God

Options :

1. % Neocracy
2. % Thearchy
3. # Ochlocracy
4. % Plutocracy

Question Number : 155 Question Id : 967947357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A stoppered glass container into which wine or spirit is kept.
Options :

1. # Borosil

2. % Pyrex

3. % Decanter

4. % Thermos

Question Number : 155 Question Id : 967947357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.



A stoppered glass container into which wine or spirit is kept.
Options :

1. ®* Borosil

2. % Pyrex

3. % Decanter

4. * Thermos

Sub-Section Number : 2
Sub-Section Id : 96794721
Question Shuffling Allowed : Yes

Question Id : 967947358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Lakmé is an Indian cosmetics brand which is owned by Hindustan Unilever. Having Kareena Kapoor and Chamma as the ambassador, it ranked
at number 1 among the cosmetics brands in India. Lakme started as a 100% subsidiary of Tata Oil Mills (Tomco). It was named after the French
opera Lakmé, which itself is the French form of devi Lakshmi (the Hindu goddess of wealth) who is renowned for her beauty. It was started in
1952 famously, because then Prime Minister Jawaharlal Nehru was concerned that Indian women were spending precious foreign exchange on
beauty products and personally requested JRD Tata to manufacture them in India. Simone Tata joined the company as director and went on to
become the chairperson. In 1996, Tata sold off their stakes in Lakmé Lever to HUL, for Rs 200 Crore (45 million USS$).

In the Brand Trust Report 2012, Lakme was ranked 104th among India's most trusted brands and following year it was ranked 71st on the list. In
2014, Lakme was ranked 36th among India's most trusted brands according to the Brand Trust Report 2014. The company is the title sponsor for
Lakme Fashion Week (LFW) a bi-annual fashion event which takes place in Mumbai.

Sub questions

Question Number : 156 Question Id : 967947359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Lakme ranked 36th among India's most trusted brand report in which year?
Options :

1. % 2012

2.¥2014

3. % 2017

4. % 2015



Question Number : 157 Question Id : 967947360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what major change happened to the company?

Options :

1. ® Simone Tata joined the company as director.

2. % Prime Minister Jawaharlal Nehru was concerned that Indian women were spending precious foreign exchange on beauty products.
3. ¥ Tata sold off their stakes in Lakmé Lever to HUL, for Rs. 200 Crore.

4. ® Lakme set up as a 100% subsidiary of Tata Oil Mills (Tomco).

Question Number : 158 Question Id : 967947361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Lakme is an Indian Cosmetic company owned by?
Options :

1. ® JRD Tata

2. ® French opera Lakmé

3. # Lakme Fashion Week

4. ¢ Hindustan Unilever

Question Number : 159 Question Id : 967947362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. Kareena Kapoor and Chamma are the brand ambassador of Lakme.
B. In the Brand Trust Report 2013, Lakme was ranked 71st among India's most trusted brands.
C. The company is the title sponsor for Lakme Fashion Week.

Options :

1. % A Only
2. % A&C
3. % B&C



4. % All are correct.

Question Number : 160 Question Id : 967947363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. Lakme was named after the French opera Lakmé, which itself is the French form of devi Lakshmi.

B. JRD Tata sold off their stakes in Lakmé Lever to HUL, to Simone Tata for Rs 200 Crore (45 million USS).

C. The company is the title sponsor for Lakme Fashion Week (LFW) which happens once every three years and the event which takes place in
Mumbai.

Options :

1. ¥ A only
2.% A&C
3. #* B&C

4. % All are correct.

Question Id : 967947358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Lakmé is an Indian cosmetics brand which is owned by Hindustan Unilever. Having Kareena Kapoor and Chamma as the ambassador, it ranked
at number 1 among the cosmetics brands in India. Lakme started as a 100% subsidiary of Tata Oil Mills (Tomco). It was named after the French
opera Lakmé, which itself is the French form of devi Lakshmi (the Hindu goddess of wealth) who is renowned for her beauty. It was started in
1952 famously, because then Prime Minister Jawaharlal Nehru was concerned that Indian women were spending precious foreign exchange on
beauty products and personally requested JRD Tata to manufacture them in India. Simone Tata joined the company as director and went on to
become the chairperson. In 1996, Tata sold off their stakes in Lakmé Lever to HUL, for Rs 200 Crore (45 million USS).

In the Brand Trust Report 2012, Lakme was ranked 104th among India's most trusted brands and following year it was ranked 71st on the list. In
2014, Lakme was ranked 36th among India's most trusted brands according to the Brand Trust Report 2014. The company is the title sponsor for
Lakme Fashion Week (LFW) a bi-annual fashion event which takes place in Mumbai.

Sub questions

Question Number : 156 Question Id : 967947359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the passage, Lakme ranked 36th among India's most trusted brand report in which year?
Options :

1. % 2012

2.9 2014

3. % 2017

4. % 2015

Question Number : 157 Question Id : 967947360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what major change happened to the company?

Options :

1. ® Simone Tata joined the company as director.

2. ® Prime Minister Jawaharlal Nehru was concerned that Indian women were spending precious foreign exchange on beauty products.
3. ¥ Tata sold off their stakes in Lakmé Lever to HUL, for Rs. 200 Crore.

4. ® Lakme set up as a 100% subsidiary of Tata Oil Mills (Tomco).

Question Number : 158 Question Id : 967947361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Lakme is an Indian Cosmetic company owned by?
Options :

1. ® JRD Tata

2. # French opera Lakmé

3. # Lakme Fashion Week

4. ¢ Hindustan Unilever

Question Number : 159 Question Id : 967947362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. Kareena Kapoor and Chamma are the brand ambassador of Lakme.



B. In the Brand Trust Report 2013, Lakme was ranked 71st among India's most trusted brands.
C. The company is the title sponsor for Lakme Fashion Week.

Options :

1. % A Only

2.% A&C

3.8 B&C

4. ¥ All are correct.

Question Number : 160 Question Id : 967947363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. Lakme was named after the French opera Lakmé, which itself is the French form of devi Lakshmi.

B. JRD Tata sold off their stakes in Lakmé Lever to HUL, to Simone Tata for Rs 200 Crore (45 million USS$).

C. The company is the title sponsor for Lakme Fashion Week (LFW) which happens once every three years and the event which takes place in
Mumbai.

Options :

1. ¥ A only
2.% A&C
3. B&C

4. % All are correct.
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Question Number : 161 Question Id : 967947364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faet & ¥ 39 fAhey o1 9= &3 o fau 7T Y - fowde Yo & It WY H1 fapea B

Y + 3¢
Options :

1. % RUY
2. ¢ RAY
3. % RAY
4. % gAY

Question Number : 161 Question Id : 967947364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 famcal 7 4 39 fapey &1 987 &3 ol feu U TfY - foe 2reg & Tl Iy S farcu g1




A +
Options :

1. % gead
2. ¢ A
3. % Y
4. % qRHYS

Question Number : 162 Question Id : 967947365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fawed &1 9a- &< Sl fAT T Weg & T&! 9fY- fowse &1 fadweu 5
SHBI

Options :

1. ¢W+§m
2. % SP! + 3T
3. % ST+ TR
4. % SFd! + 3

Question Number : 162 Question Id : 967947365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdchey &1 9u= B3 o) 3T U Treg & IgT IfY- fawde &1 fadea B
NIECAR]

Options :

1. MW+§'§[
2. ® SFPH! + 39
3. % SHd] + T
4, % DT + 37




Question Number : 163 Question Id : 967947366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faedt & T 39 fAhey 1 9= &3 ol fou 7T Y - fowde Weg & It Y H1 fapea B

gYT+ud
Options :
1. % gYq
2. ¥ JUqg
3. % YYd
4. % QYq

Question Number : 163 Question Id : 967947366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fael & ¥ 39 ey o1 7= &3 o feu 7w IfY - fowde Teg & It IfY &1 fapeu B

YT + Id
Options :
1. % gq
2. ¥ qUq
3. % YYiq
4, % gYyq

Question Number : 164 Question Id : 967947367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdswey &1 98 &3 off foU U Wreg & I8} I fawsg &1 faweu |

qrd-
Options :
1. % O+ 3




2. % Ur+dd
3,</t|3[+31:[
4. % J+ 34

Question Number : 164 Question Id : 967947367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal # O 39 faseu o1 g4 &3 o fou TN Tsg & Tg! IfY fawde &1 faseu 3|

PIcE]
Options :

1. % O + 3
2. % Ui+d-d
3. ¢ Ul + 3F
4, % U+ 34

Question Number : 165 Question Id : 967947368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fasmedl & ¥ 34 fddhed o1 9g4 B Sl o H Xeg BT gl [ddhed |
Options :

1. % i

2. 3y

3. % Uiq

4. % TY[

Question Number : 165 Question Id : 967947368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g famedl & T 39 [ddhed &1 999 B Sl TH sc I gl [ddhed 3|

Options :




1. % grar
2. 3y
3. % UIg
4. % T

Question Number : 166 Question Id : 967947369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasredt o @ 39 fadwed &1 997 3 S fagzf wree &1 98t fawe )
Options :

1. ¥ R

2. % gaf

3. % Yy

4, % TP

Question Number : 166 Question Id : 967947369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 9= &3 off fae2h 2ree &1 98} fasheu 3|
Options :

1. ¥ G

2. % gl

3. % Y3

4. % YD

Question Number : 167 Question Id : 967947370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fasped! o ¥ 39 [adey &1 997 &< ol fAU 71U 2eg o foq Ue! agdife 999 & forg &1 98! fawed 5

b HATGT




Options :

1. % HUF 3R T

2. ® HUA &I 794

3. % HHA O T

4. ¥ HHA S Tg1 el

Question Number : 167 Question Id : 967947370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 ol § ¥ 39 [9deu &1 997 &< ol AU 71U 2eg o fow We! agdife 99 & fovrg &1 98! fawed 5

HHATI

Options :

1. % HUA 3R T

2. % HHA ¥4l 794

3. % B oY T

4. ¢ HHA O T ITe

Question Number : 168 Question Id : 967947371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashey &1 987 B3 off STWT O 99 e o1 el fabed g
Options :

1. v FEeE

2. % TR

3. % fafad

4. % Rl

Question Number : 168 Question Id : 967947371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



7 ol T 9§ 3 fadhed &1 98- 3 off ST ¥ 94 Xeg o1 el fddhed g
Options :

1. ¥ e

2. % TR

3. % fqafia

4. % fAgRd!

Question Number : 169 Question Id : 967947372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied ve o, TR fadwedl O 9, 39 [awed &1 70 ) I THEgay fohaT A= T 96 33T fadhed g
Options :

1. % & g
2. % qUb Y

3.V TR
4. % UHH

Question Number : 169 Question Id : 967947372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadwed &1 98 & off SH=asIyd T [aRIv0 &1 Jad 3w faded g
Options :

1. % o g
2. % gUh 9
3. ¥ IR

4. % TP

Question Number : 170 Question Id : 967947373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal # @ 39 fAseu o1 g4 3 o fou TN Wsg &1 Ug! fadiiv e g1




3ffauig
Options :

1. % I
2. % YIgHia
3. % Yy
4.« faRIYIG

Question Number : 170 Question Id : 967947373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal # @ 39 ey o1 g4 3 o fou TN Wsg &1 Ug! fadiv wreg g1
3nfaufa

Options :

1. % I
2. % Yigyig
3. % Ay
4. foRIMTE

Question Number : 171 Question Id : 967947374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & Q 39 facheu &1 9a &3 o1 T 7T Xeq; &1 Tg) yafgar weg g |
faegd

Options :

1. % Ydq

2. ¢ AGIfE
3. % 9Ikg

4. % \dq




Question Number : 171 Question Id : 967947374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & Q 39 facheu &1 9a &3 o1 T 7T Xeq; &1 T} yafgar weg g |
faegd

Options :

1. % Ydq

2. ¢ AGIfE
3. % 9IRG

4. % \dq

Question Number : 172 Question Id : 967947375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fashed! o ¥ 39 [ddey &1 997 3 ol faU 71U Weg-gw & el o & fawbed 5

§PE
Options :

1. ¥ PR U8 Bl aq

2. ® ga, IRl

3. % gglged Bl e

4.« Uld &1 &6 ,gad DI Ulel

Question Number : 172 Question Id : 967947375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmedl o 9 39 fadwed &1 997 & S faU U Wrea-gm & et 31 o1 fawed 5|
P -gP

Options :
1. % ddbR WS Bl ad




2. % B9, IR

3. % Bgl.gad Bl Ulsl
4. ¢ T3 BT 33 gad Bl Ulel

Question Number : 173 Question Id : 967947376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faedl & ¥ 39 fAdmed &1 7 3 ol feT 7U a1y & o U e o1 8! fapeu 3|

Sl feRPTd db 38 -
Options :

1. % feR&TA

2. % feRaA

3. % W

4. ¢ TRy

Question Number : 173 Question Id : 967947376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faedl & ¥ 39 fAdmey &1 T B3 Sl feT 70 911 & 7T U e 71 8! fapeu g

S T d 38 -
Options :

1. ® fRe1d

2. % fRaA

3. % W

4. ¢ R

Question Number : 174 Question Id : 967947377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faeel & ¥ 3T fAdmed &1 7 3 ol feT U a1y & ot U e o1 8! fapeu 3|




TToTd §1d o ol §8 =T
Options :

1. % 3Thidl

2. % faey

3. ROIE

4. % ¥R

Question Number : 174 Question Id : 967947377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fael & ¥ 39 fadmed &1 7 3 il feT 17U a1t & fu U e 1 I8! fapeu 3|

TTAd §Td & [T 88 AT
Options :

1. % 3{Tehidl

2. % fady

3. ¥ RXUG

4. % WX

Question Number : 175 Question Id : 967947378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad ue o, TR fowen T 9, 39 U fadwed &1 9g9 o3 o Rad ®IM & It Iuged e &1 el fadweu 71
TARW S T Tdl & 3H® g ¢ |

Options :
1. % 3N
2. % dq
3. % 3Udd
4. % I




Question Number : 175 Question Id : 967947378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad us o, TR fawen & 9, 39 U faded &1 9g9 o3 ot Rad ®IM & e Iuged e &1 el fawe 71
TARW S T dl & 3H® g ¢ |

Options :
1. % 3N
2. % dq
3. % 3Udd
4. % I

Question Number : 176 Question Id : 967947379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl § ¥ 39 fawed &1 98- &< Sl 9160 &1 Y &9 &1 9g! [ddhed gl
Options :

1. % 3 g T BRI

2. ¢ I forara Wl

3. % g 1 & fHare |

4. % gHA ST TEI B

Question Number : 176 Question Id : 967947379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faswedt o 9§ 39 fawed &1 997 B S 9160 &1 Y U HI Tg! fAdbed 7
Options :

1. % 3MTU IgT T BRI

2. ¢ I fohelTd wiaT|

3. % Tg HH gH frar gl

4. % GHA ST B




Question Number : 177 Question Id : 967947380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fawed &1 79 &3 o 9160 &1 Y& ¥4 & Ja! f[adhed g |
Options :

1. ¥ 98 <4l % UgI 2|

2. % JIER &I F1 AW

3. % U Y I

4. % O % gAAT 8|

Question Number : 177 Question Id : 967947380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o et & 9 39 fased &1 98- B ol 91 1 Y U &1 Ha! fdbed 5|
Options :

1. ¢ 98 GHdl P UeT & |

2. % TR B R AT

3. % U IS

4. % AR qAATR|

Question Number : 178 Question Id : 967947381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fased o @ 39 faded &1 997 &< Sl 3T 7Y Xeg o7 dgaa g

Ulddh

Options :

1. * Uldd Hg
2. % Y13 W
3. ¢ UIGHaT



4. % U6h g

Question Number : 178 Question Id : 967947381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fased o @ 39 faded &1 997 &< Sl 3T 7Y Xsg o1 dgae- ]

Ulod

Options :

|. % O3 qHg
2. % UIaH AN
3. ¢ UId&HaT
4. % U8 dg

Question Number : 179 Question Id : 967947382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad Uy & 3 39 fawed &1 999 B S Y& YT el Tes § |

Options :
1. % dddR
2. % O
3. % fgdt
4. % QU

Question Number : 179 Question Id : 967947382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofeRad ue § T 39 fahed &1 70 ¥ S Y& YT aTdl g ¢ |

Options :
1. % dcldiR

2. %




3. % fgdt
4. ¢ TR

Question Number : 180 Question Id : 967947383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy & T 39 ey &1 7 &3 St T U 9190 & HTd & NE BT T8t [dhed g
H anft W ST R

Options :

1. ¢ 3 YdDTd

2. % gJoqHG YdbId
3. % iy Ydbld
4. % qUf YdPb1a

Question Number : 180 Question Id : 967947383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy & T 39 by &1 797 &L o faU 77T a1 & BT & U BT Jet [Abed g
# anft Wrar I3 B

Options :

1. ¢ 3T YdDTd

2. % gdegye Yddld
3. ® iy Yddld
4. % Ul YdPbTa

General Hindi2

Group Number : 10
Group Id : 96794720



Group Maximum Duration : 0

Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 96794720
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794723
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 967947384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefad Uy & T 39 Ahey &1 T899 B O 919 & BT P NS BT Tg! f[abeu g
Fifde U forg T8 |

Options :

1. % AT IdHH BT
2. ¢ 3(Ul IGHH BT
3. % 37Ul Yd&dTd

4. % IfeTy gdaE BId




Question Number : 181 Question Id : 967947384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 Ahey &1 I B O 919 & BT P NS BT Ig! f[abeu g
Fifded U forg @18 |

Options :

1. % AT IdHH BT
2. ¢ 3(qUl GHH BT
3. % 30l Yd&dTd

4. % IfeTy gdaE BId

Question Number : 182 Question Id : 967947385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffead Uy & I 39 Ahey &1 9= &L o faU 77T 91 & U&l & He &1 el [dbeu gl
WM B 8 PR YW Fad! of 38! g

Options :

1. % g9y S1UdH
2. % Agdr gide
3. ¢ UIfd Shide
4. % RY YD

Question Number : 182 Question Id : 967947385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 by &1 797 &3 o feU 770 a1 & Uel & He o1 Iat fdbeu gl
T B @ HR YW@ Tl o 381 6|

Options :




1. % gy 91
2. % FAgdr Ods
3. ¢ UAIfd Aidd
4. % IRH Ydd

Question Number : 183 Question Id : 967947386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 Ahey &1 797 &3 o feU 770 a1 & Uel & He &1 Iat fdbeu gl

I8 &7 1R Tg1d ol 4T a9 I%hd ga|
Options :

1. ¢ ARTIdH

2. % TIfqAIY®

3. % FardEiy®

4. % YIfd OdPd

Question Number : 183 Question Id : 967947386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifead Uy & I 39 Ahey &1 9= &L o faU 77T 91 & Uel & He &1 Jel f[dbeu gl

98 f&1 1R Tg-1d ol U1 dd Gl ga|
Options :

1. ¢ TIdD
2. % EIfdey®

3. % fHadEy®
4. % AT Tidsd

Question Number : 184 Question Id : 967947387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafoRed oy & 3 39 fawed &1 999 o o1l fau 70 91eg & g & N &1 98! fadbe g
YYT § 3 g faemer ST o |

Options :

1. ¢ qrTaTd
2. % Tpard
3. % Hegrd

4. % faeqd

Question Number : 184 Question Id : 967947387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & 9 39 fadwed &1 98 &< 5l fu TN a1 & gy & We &1 Ie! [deed 7
GHT § 3o 9 e ST us |

Options :

1. ¢ qriaTd
2. % Fopdrd
3. % i

4. % faegd

Question Number : 185 Question Id : 967947388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead gy & I 39 by &1 997 &L o faU 77T a1 & U o1 et fAped B
AR ! 99 g T SN 98 &R Y T Ugdl|

Options :

1. % fayHaras a1
2. % WA I

3. ¢ HYad a1

4. % Ty 91



Question Number : 185 Question Id : 967947388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead gy & I 39 by &1 997 &L o faU 77T a1 & U &1 et fAped B
AR 1 99 g T SHIAY 98 &R Y T Ugdll

Options :

1. % fayHaras a1
2. % WA I

3. ¢ HYad a1

4. % Ty 91

Question Number : 186 Question Id : 967947389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad uy & IR fawedl & T 39 fadey &1 909 &9 St 970 & He &1 J8! UHR 3
3BT H IR 8] THS ] 5

Options :

1. % Togard®m

2. ¢ N yaE®

3. % Jhadrad

4. % THAD

Question Number : 186 Question Id : 967947389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR el & 9 39 fadh ey o1 997 B3 Sl 910 & U &1 ol YR g
THTY & IR T8l THD B B

Options :



1. % Jogadd
2. ¢ FANYaRS
3. % bhdard®
4. % IJARD

Question Number : 187 Question Id : 967947390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul # 9 39 fadhed &1 997 & <1 fav g gad a1 &1 el fase g
Options :

1. % 17 RIerd gU Fel--Fea sei ggf are

2. % Y14 RIedATd §U el Ada Sef ggf I

3. % Y7 fFIedTd §U el e el Tgl ¥

4. ¢ YT A foIedTd gU Fel- "Aa Ssfl agl O

Question Number : 187 Question Id : 967947390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy 8, IR fawedl & 9 39 fadwed &1 9a9 o S favm fug gad ared &1 98! fawed 5|
Options :

1. % 747 A Faredrd gU Sgl--Had seil g8l A

2. % 47 A RIeTd gU bgl-:Hed Sall ggl 4

3. % 147 A I §U el "Adha oiefl T8l 4

4.« U1 7 I gU Fel- "Hdma Seh ggr I

Question Number : 188 Question Id : 967947391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9 3 fadhed &1 78 &< off fovH g gad a1ed &1 ¥t faeed ¢ |
Options :

1. % e S g o I H T &, TRI&T URmE ger|




2. % g =ifd Sea ST ¥, T FHSIA1 § URI&T URom e
3.  TR1e f Sga 9H 9, & IHgar g, ustern afkomy ger|
4. % e S g oM F, H THAAT &, T&T TR Jerm

Question Number : 188 Question Id : 967947391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy 8, IR fadwedl & 3 39 fddhed &1 90+ ) Sl faR g gad a1 &1 et fdeed 5|
Options :

1. % fR1em T Iaa T O T U1 g, TRI&T URomT ger|

2. % e M ed M Q, H qHIrar g utem ufRomT R

3. ¢ R Hifd 9 9F 9, § T §, URTe Ui ger|

4. % fR1em T e M T, T THSA1 8, TRN&T TRomT er

Question Number : 189 Question Id : 967947392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed oy & IR fawedl § 9 3 fadwed &1 7a- &1 ol v g gad a1ed &1 et fawed g |
Options :

1. ¢ Ryaa, fiege 3R STeaeRt 3nfe YvER & =0 |

2. % Ryaar), firdrae, 3R STaeeRY 31fe YRR & TU |

3. % RYTER} fireiae 3R HIaE™R) 3nfe YI=R & 07|

4. % Ry, fremae 3R SIAESRY 3 UPHER & T 8

Question Number : 189 Question Id : 967947392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T 39 faswey &1 999 &3 ol favm fug goad areg &1 el fasea 3|
Options :

1. ¢ Ry, fyarae 3R SIaTeeR) 31 YPRR & T |

2. % Ry, firarae, 3R HramEem 3fe YPRR & T |




3. % RyYdER firdrac 3R BIEeRY e UFER & U g
4. % Ryaa@r, fireiae 3R SIAEERT 31 UFHR & U 8

Question Number : 190 Question Id : 967947393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy & T 39 foey &1 7 &1 ot feu U ispifad & 3rdf o1 Iet fabeu 3|
R P, S B

Options :

1. % g T HeM AT DIl B RIGId &I URATg o) ded
2. ¢ S ST HHT BT §, STB! AT 81 Bd e g

3. % 3w DI Tl TGl

4. % B3I T S 3T 83 T8l Brad

Question Number : 190 Question Id : 967947393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & I 39 Ahey &1 9897 B oY fou U Apifad & 3 &1 ug) fapeu 3|
R Y, oY Pl ad

Options :

1. % g8 g1 A8 AN Dlel @t RIerId &1 URdTg Tal ®d
2. S oI A HIAT 8, ITP! 94T &1 B HeAdT &

3. % 3= DI HOl TGl

4. % g3 OIS S (U1 §S el Bredl

Question Number : 191 Question Id : 967947394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy & T 39 fohey &1 7= &1 ot fau TN eispifad & 3rdf o1 Iet fabeu g




I1d Ui &1 b gl, Th o o] S

Options :

1. ¥ Uhal ¥ 9gd Wfad gt 8

2. % GII3TEH 3TTR TR W OE dl I1H I IS USdl §
3. % &I Ueh g1 =M A g drell

4. % Y AN 99 $© IR ADhd §

Question Number : 191 Question Id : 967947394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy & T 39 ey &1 997 &3 oY fou U Asifad & 31 &1 98l fasreu 3|

Id Ui &1 b e, T S b il

Options :

1. ¢ Tohdl H §gd Ufad gidl §

2. % FRATCHT TR W W@ 91T Al STeH 39 IBdH USdl §
3. % &I Ueh gl G20 H Tg- a1l

4, % e AN U TS R IHd §

Question Number : 192 Question Id : 967947395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad Uy & I 39 Ahey &1 987 &L oY fau U Apifad & 3if &1 gl fapeu g

YT 13T TS Wl &

Options :

1. % TTATh gl

2. % ¢iar @

3. ¢ TG AN g1 a8 o oA 9T §
4. % 3Ugd HAAI




Question Number : 192 Question Id : 967947395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 ey &1 997 &L oY fou U Asifad & 31 &1 98} faseu g |

T HI3T T Wl §

Options :

1. % TTCeh gl

2. % ¢iar @

3. ¢ A% AN g1 a8 9 RaT W §
4. * 3Ugd HAMI

Question Number : 193 Question Id : 967947396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad oy & 3 39 faewed &1 999 o S fau 70 ggrak & o &1 98t fawe g |
T T gerget

Options :

1. % TYC B AT
2. % PHIY Id BT
3. % Y H AT
4. ¢ UIHR

Question Number : 193 Question Id : 967947396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy B O 39 fdeed &1 997 &< ol faU T GeTR & 31 &1 9! faded 5|
Tt 1 g

Options :

1. % AUS B ST




2. % Iy YA g
3. % qY B &A1
4. ¢ UIHTR

Question Number : 194 Question Id : 967947397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Uy & 3 39 [deed &1 999 o S faU 70 GgTak & 31 &1 gt fawed g |

A1d YR IT-T
Options :

1. % AqTH STl

2. % govld Sl

3. ¢ b ddl Ugld hHl
4, % JHEXGAT

Question Number : 194 Question Id : 967947397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad oy & 3 39 fdwed &1 999 o 1 fau 0 ggrak & o &1 98t fawe g |

ATd YR <1
Options :

1. % AH 33T

2. % govfd SfHT

3. % b ddl Ul ]
4, ® JHEE QAT

Question Number : 195 Question Id : 967947398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad Uy & 3 39 [deed &1 999 o S fau 0 GgTak & 31 &1 gt fadbed |




o & R H ge

Options :

1. % @Il g

2. ¢ IS Y HHM § T g
3. # fq@rae sl

4. % 3qc dac] DRI

Question Number : 195 Question Id : 967947398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy B O 39 Ao ed &1 9= &< ol faU T GeTR & 31 &1 9! faeed 5|
fgd & R H usT

Options :

1. % Qe g

2. ¢ IYH Y7 HHH H T I
3. % fq@rae Bl

4. % 3 dad Bl

Sub-Section Number : 2
Sub-Section Id : 96794724
Question Shuffling Allowed : Yes

Question Id : 967947399 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (196 to 200)

frafafRad e & egae ufeu SR fau 7T usi & IR S|

3fTTeTs Rrafor, foalt IUBRUT BT T AT HHTAAT 8] RRaT JobdT 8, Wil fIeR SoMT, PR IaMT 31 | 81 $e34¢ R T IS TN
(practical) Ta| B Tabd | WIIHR AT 3R WS Y | Wod BT QI - 8 A $B S| I Ugls A 7 ol ol UTdl g | SHarg e
T T P 3| Td WY TR 3R TSI § | JIasi-d U I Sid- Bl B Bl 3R TRIA BT TR a9 3R 31 IoId gial & oid 311U
IR gfaT H el T o WY 964 & | $© a= AT b1 SR 7 811 HIRUN S H&fM3f & THRAr I Tt ad 3R a1t I @l &t +ft




IR H & | Bl Tl &b Y HYUGH] b SHaARIdT 3D T Faig DRl ¢ | FoF AT & U1 Hg?l HeR 3R WIChH g1 8, d
fR1&1 1 39 YUITel o 1Y dTad g 9371 UTd | IRITT-URER THIURRUT (Residential Course Certificate), G fRI&T THIUM (Distance
Education Certificate) ¥ 3T Heg TWd1 g | Aedd Taeft TR T FHs IR e Fa 3RHd 8l Sl ] |

Sub questions

Question Number : 196 Question Id : 967947400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT HefT3f T I IR T 3RR TSl 82
Options :

1. % Y Td R WIS 8IS §

2. ¢ 3i1Q U9 W TR B

3. % Jed el

4. % WA

Question Number : 197 Question Id : 967947401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ffTermeT fRien & a7 7Y Wa ard 82
Options :

1. ¢ FIeR 91, HR IAMT T IS IR
2. % g feraH

3. % IETIAT

4. % YToOT AT

Question Number : 198 Question Id : 967947402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TTeTS 18 YUTTelt & |1y DI dTd Jd g1 (96T 9dhd 67
Options :

1. % R U9 duer 9 W B §

2. % JHHHTD



3. ¢ FoFP U SR 9 WIS B T8 &
4. % BEAT

Question Number : 199 Question Id : 967947403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 4l 2sg AT 82

Options :

1. ® TIfd

2. % 3P¥

3. ¢ 3{d-d

4. % 3dH

Question Number : 200 Question Id : 967947404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3f=de o fore Ifd e diferd |
Options :

1. ¢ 3{iarg & & Jo

2. % 3fiTarsH fRuem

3. % 3fiarsH R ud faemif

4. % 3fIcTs fran ud SrfiHraew

Question Id : 967947399 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (196 to 200)

frafeiad o & emyde ufgu 3R fau 1w usi & I il

3T Rrefur, fHft IuH0T B T A1 YU Tt RIaT T g, S fIeR Soi 1, HR IdMT 31fe | 89 §e3-e IR Ue 1A YA
(practical) ] X Thd | WHR T2 R TS ST | THd BT AT 78 U S g BT UGS | U o) o1 UTdl g | AT Hemaii
T I P 3G} T WY R 3R TSI § | Jraoi-e e«\u@rq\m-ﬁwqﬁ-‘zmﬁ%}Y?ﬁ“@ﬁmwa‘q’ﬁ?&ﬁ%mm%w&w
RAaD AT | 3Rl ATl & AT 93 § | $S T SAUD BT SR 7 g1- HRUI 37 s i fRar I 781 ad 3R STt Id anni &l




IR H & | Bl Tl &b Y HYUGH] b SHaARIdT 3D T Faig DRl ¢ | FoF AT & U1 Hg?l HeR 3R WIChH g1 8, d
fR1&1 1 39 YUITel o 1Y dTad g 9371 UTd | IRITT-URER THIURRUT (Residential Course Certificate), G fRI&T THIUM (Distance
Education Certificate) ¥ 3T Heg TWd1 g | Aedd Taeft TR T FHs IR e Fa 3RHd 8l Sl ] |

Sub questions

Question Number : 196 Question Id : 967947400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT HefT3f T I IR T 3RR TSl 82
Options :

1. % Y Td R WIS 8IS §

2. ¢ 3i1Q U9 W TR B

3. % Jed el

4. % WA

Question Number : 197 Question Id : 967947401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ffTermeT fRien & a7 7Y Wa ard 82
Options :

1. ¢ FIeR 91, HR IAMT T IS IR
2. % g feraH

3. % IETIAT

4. % YToOT AT

Question Number : 198 Question Id : 967947402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TTeTS 18 YUTTelt & |1y DI dTd Jd g1 (96T 9dhd 67
Options :

1. % R U9 duer 9 W B §

2. % JHHHTD



3. ¢ FoFP U SR 9 WIS B T8 &
4. % BEAT

Question Number : 199 Question Id : 967947403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 4l 2sg AT 82

Options :

1. % g

2. % 3Py

3. % 3{dqd

4. % 3dH

Question Number : 200 Question Id : 967947404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3f=de o fore Ifd e diferd |
Options :

1. ¢ 3{iarg & & Jo

2. % 3fiTarsH fRuem

3. % 3fiarsH R ud faemif

4. % 3fIcTs fran ud SrfiHraew



